Svenska Bridgeférbundet
Simultan 2019-12-04

Partavling, 142 bord, 273 par. Antal brickor: 24. Medel: 3117.6. Frirond (*) ger egen procent.

Plac Par
1 Di4
2 024
3 D10
4 U6
5 A8
6 F7
7 R6
8 L10
9 L1

10 J4
11 Q14
12 Q8
13 G17
14 01
15 Q23
16 M3
17 A2
18 D13
19 Q19
20 111
21 B7
22 G18
23 K6
24 S5
25 N3
26 F10
27 H8
28 B3
29 06
30 F9
30 Q13
32 C5
33 S7
34 R4
35 M2
36 G6
37 H4
38 D9
39 020
40 E8
41 T4
42 B76
43 Q11
44 19
45 112
46 Q18
47 016
48 K5
49 H1
50 E12
51 015
52 Al
53 F3
54 P2
55 G15
56 J12
57 E1
58 D15
59 G8
60 B10
61 J1
62 C9
63 Q2
64 H7
65 C1
66 E9
67 T3
68 M5
69 S3
69 D8
71 G9
72 E2
73 D20
74 Bl12
75 Ul
76 A3
77 T2
78 05
79 110
80 L2
81 F2
81 J7
81 B9
84 B78
85 14

Poang

4218.0
4200.0
4047.0
4040.4
4005.7
3997.0
3992.0
3991.6
3990.5
3972.0
3969.0
3962.0
3955.0
3939.0
3928.0
3901.0
3884.0
3864.0
3834.0
3833.0
3815.0
3795.0
3782.0
3781.0
3749.0
3741.0
3737.1
3706.0
3702.0
3700.0
3700.0
3696.0
3691.0
3689.1
3689.0
3676.4
3668.6
3665.0
3660.0
3657.8
3622.0
3616.0
3615.0
3610.0
3609.0
3607.0
3605.0
3601.0
3594.0
3584.7
3580.0
3577.1
3569.0
3543.0
3540.0
3537.8
3534.5
3531.0
3529.1
3519.3
3516.0
3504.0
3497.0
3496.0
3489.1
3484.4
3473.0
3472.0
3460.0
3460.0
3457.1
3444.0
3441.0
3439.0
3438.0
3430.9
3428.0
3405.0
3403.0
3402.5
3396.0
3396.0
3396.0
3383.0
3378.0

%

67.60
67.31
64.86
64.75
64.19
64.05
63.97
63.97
63.95
63.65
63.61
63.49
63.38
63.13
62.95
62.52
62.24
61.92
61.44
61.43
61.14
60.82
60.61
60.59
60.08
59.95
59.89
59.39
59.33
59.29
59.29
59.23
59.15
59.12
59.12
58.92
58.79
58.73
58.65
58.62
58.04
57.95
57.93
57.85
57.84
57.80
57.77
57.71
57.60
57.45
57.37
57.33
57.20
56.78
56.73
56.70
56.64
56.59
56.56
56.40
56.35
56.15
56.04
56.03
55.92
55.84
55.66
55.64
55.45
55.45
55.40
55.19
55.14
55.11
55.10
54.98
54.94
54.57
54.54
54.53
54.42
54.42
54.42
54.21
54.13

Namn

Lars Kennethsson - Per Jansson
Patrik Elofsson - Géran Lidgren

Jan Olsson - Leif Brage

Olle Nordstrém - Bengt Bengtsson
Kent Anderot - Roger Andersson
Tommy Kont - Lennart Myrenhill
Gun-Britt Persson - Stefan Persson
Dorothy Tagt - Jon Lundgvist

Stig Johansson - Sven-Ake Arvendahl
Hakan Brostrom - Urban Nilsson

Allan Johansson - Arne Andersson
Bengt Lundberg - Ivan Abrahamsson
Dan Johansson - Bo Wiker

Ceve Eldh - Kerstin Ernby

Anders Dellien - Lennart Johansson
Carl Hard af Segerstad - Per Hard af Segerstad
Roger Hag - Conny Nilsson
Per-Ingvar Skoglund - Vera Gemrud
Bernt Johansson - Arnold Knutsson
Maud Kylinger - Gunnar Bostrém
Susanne Hammar - Kerstin Becker
Ake Fransson - Rolf Forsberg

Lars Ornberg - Jerker Norlund

Carina Sundén - Marito Karlsson

Kjell Andersson - Hans Molin

Kjell Nersveen - Stefan Broberg
Hans-Olov Stéliman - Tord Sélvesson
Benny Olsson - Leif Axelsson

Annika Sandberg - Rolf Israelsson
Bruno Karlstam - Roger Satherberg
Anna Ek - Otto Berntsson

Jan Ohlson - Peter Sjodin

Dan Granberg - Marcus Hjelte
Christer Nordqvist - Lennart Karlsson
Astrid Suominen - Mauritz Bjorkryd
Anne-Marie Cedergren - Kerry Hellblad
Anders Darle - Jan Lilja

Bertil Olsson - Lars Thorstensson
Jan-Erik Elmered - Sigvard Olson
Dennis Marklund - Lennart Back

Jan Norberg - Lars Broman
Marguerithe Lundberg - Ryszard Sliwinski
Laila Barone - Kent Larsson

Marie Cederkrok - Hakan Ohlsson
Sven-Inge Sandell - Ove Gustafson
Bengt Nordstrom - Erik Sved

Sven Lindell - Olle Gustavsson

Bjorn Bergmark - Tomas Linder

Johan Karlsson - Benny Bjur

Stefan Giertz - Christer Andersson
Paul de Beurs - Mats Sunesson
Sven-Erik Andersson - Kenneth Cederlof
Marit Rangelind - Kerstin Tidlund
Folke Lundvall - Carin Lundvall
Sven-Olof Gardman - Erik Franzén
Karin Hellsten - Ulla Norman

Mickey Maretics - Harry Grénholm
Leif Geremyr - Lars Gunnarsson

Irene Axelsson - Margareta Magnell
Ulf Halvorsen - Carina Halvorsen
Goran Strom - Per Norberg

Valborg Jonsson - Ann-Helen Engstrom
Thomas Englund - Kenneth Gadd
Magnus Eriksson - Mikael Brattén
Susanne Sjodin - Orjan Sjodin

Kjell Staffas - Hakan Lindh

Gosta Kron - Jim Nilsson

Bibi Tornqvist - Gunilla Méllersvard
Leif Grund - Lars Annemark

Ronny Karlsson - Lennart Nilsson

Ake Lindqvist - Mait Lindgvist

Kerstin Schenning - Lennart Schenning
Sven-Olof Onnesson - Sten Aronsson
Elisabeth Stanley - Birgitta Samuelsson
Per Andreasson - Kurt Felldin

Gunnar Klerbratt - Jan-Olof Bengtsson
Roger Magnusson - Britt Magnusson
Lena Garhamn - Hakan Hermansson
Anders Svensson - Ingemar Sjoberg
UIf Wilkenson - Asa Eriksson

Kent Persson - Torbjérn Johansson
Emma Karlsson - Leif Lundberg

Eva Wiklander - Tommy Andersson
Sven Johannesson - Barbro Johannesson
UIf Pettersson - Tomas Gustafsson

MID

17074
28614
2423
17733
24537
57190
86757
7188
78428
12081
18392
7466
8042
4244
7117
61149
17235
2734
9164
31298
1253
7976
14186
28164
9540
14986
55884
592
1661
14996
59578
56676
6
6206
79477
91866
3659
88524
27188
17376
2842
50146
50185
40103
1429
36124
35901
20535
32229
88491
60675
30537
10123
92976
261
31607
50249
10673
29519
3452
5370
27880
41642
12369
35255
34308
50145
59544
27849
31547
94104
82161
10902
8807
84676
2527
23121
37261
40107
36123
54551
58290
17165
13430
18646

2485
10066
12132
11264
24536
57192
50186
50092

5396
89351
18451
15144

4014

3428
13145
61235
24535
23764

7468
46656

7649
13471
15205
15214
20432
16034
47561

1706

1847
15381
78315
63039
84282

7084
13134
44348
83853
16142
79364
22681
12142

7639

7660
14605
11453

16
11085

3301

4070
90689
59991
17786
16036
92977

76
40394
89983
15910
29520
91477
20066
38837

7511
11059
16866

6055

3507
34282
13297
19849
29508
82162
37634
15036

912
18666
23120
23973
88455
64870
49897
20271
14659
17219

1394

Klubb

BK Lyx

Skoévde BA

BK Falkenberg
Vaxjobridgen

Ankarsrums Bridgeklubb
Finnskoga BS

Svegs BK

Borlange BK

Réttviks BS

Luled BK

Tjorns BK

Tjorns BK

Fagersta BS

Skovde BA

Tjorns BK - Ljungskile BK
Sigtuna BS

Ankarsrums Bridgeklubb
BK Allians, Halmstad

Orust BK

Filbyter Bridge

Stigtomta BK - Skévde BA
Fagersta BS - ABB BK
Norsjo BK

Uppsalabridgen

Skellefted BK

Finnskoga BS

Hagfors BK

Skdvde BA

Skoévde BA

Finnskoga BS

Uddevalla BF - Orust BK
Backe BK

Uppsalabridgen

Svegs BK

Sigtuna BS

Folkare BK - Fagersta BS
Hagfors BK

BK Falkenberg

Skévde BA

Enkopings BS - BK S:t Erik
Vaddo BK

Enkdpings BS - Uppsalabridgen
Tjorns BK

Filbyter Bridge - Ljungsbro BK
Filbyter Bridge - Ljungsbro BK
Tjorns BK

Tibro BK

Skellefted BK - Norsjo BK
Hallefors BK

Enkopings BS

Skovde BA - Mariestads BS
Ankarsrums Bridgeklubb - Helgenas BK
Finnskoga BS
Smedstadens BK

Folkare BK - Hedemora BS
Luled BK

Enkdpings BS - PRO Enkoping Bridge
BK Falkenberg

Folkare BK

Véanersborgs BS

Luled BK

Backe BK - Storsjobygdens BK
Tjorns BK

Malungs BK

Backe BK

Malungs BK - Enkdpings BS
Vaddo BK

Sigtuna BS

PBF Uppsala

BK Falkenberg

Folkare BK

Enkodpings BS

BK Falkenberg

ABB BK - Kdpings BS
Véaxjobridgen

Vimmerby BK

Vaddo BK

Skoévde BA

Ljungsbro BK

Rattviks BS

Finnskoga BS

Luled BK

BK S:t Erik - Uppsalabridgen
PBF Uppsala

Motala Bridgeallians
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
152
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177

3378.0
3373.0
3372.6
3361.0
3361.0
3360.0
3358.9
3352.0
3352.0
3350.0
3334.0
3328.4
3320.0
3310.0
3276.0
3275.0
3255.0
3244.0
3243.3
3233.5
3232.0
3228.0
3212.7
3212.0
3209.5
3207.0
3204.0
3202.9
3202.7
3197.0
3194.0
3184.0
3183.3
3183.0
3182.0
3177.8
3173.7
3173.0
3170.0
3166.9
3161.0
3155.0
3153.8
3151.0
3149.0
3148.4
3139.6
3139.0
3125.7
3125.0
3119.0
3116.0
3112.4
3094.0
3093.0
3091.6
3091.0
3087.0
3085.1
3080.7
3073.0
3057.8
3055.0
3052.0
3051.0
3045.0
3042.0
3042.0
3040.4
3040.0
3039.0
3034.8
3027.0
3026.2
3023.0
3021.0
3020.0
3019.0
3013.0
3001.1
3001.0
3000.0
2994.0
2988.0
2986.3
2973.0
2972.4
2969.1
2961.0
2959.0
2958.5
2953.0

54.13
54.05
54.05
53.86
53.86
53.85
53.83
53.72
53.72
53.69
53.43
53.34
53.21
53.04
52.50
52.48
52.16
51.99
51.98
51.82
51.79
51.73
51.49
51.47
51.43
51.39
51.35
51.33
51.32
51.23
51.19
51.03
51.01
51.01
50.99
50.93
50.86
50.85
50.80
50.75
50.66
50.56
50.54
50.50
50.46
50.45
50.31
50.30
50.09
50.08
49.98
49.94
49.88
49.58
49.57
49.55
49.54
49.47
49.44
49.37
49.25
49.00
48.96
48.91
48.89
48.80
48.75
48.75
48.72
48.72
48.70
48.63
48.51
48.50
48.45
48.41
48.40
48.38
48.29
48.09
48.09
48.08
47.98
47.88
47.86
47.64
47.63
47.58
47.45
47.42
47.41
47.32

Christer Nystrom - Robert Bohman
Eva Brantingson - Sten Pettersson
Harry Magnil - Jan-Henrik Rundh

Jan Johansson - Rune Isaksson
John-Erik Hornfeldt - Anders Norin
Torsten Andersson - Mats Olsson
Bengt Ostman - Pelle Persson
Lars-Goran Blomkvist - Richard Lundqvist
Anders Kallsten - Kjell Larsson
Lennart Jonasson - Lars Gustavsson
Elisabeth Durén - Kjerstin Svenfelt
Hans Warell - Erik Johansson

N-G Nilsson - Stefan Andersson

Sdren Forsmark - Barbro Forsmark
Erik Sjéstrand - Sanny Syberfeldt

Jiri Polacek - Marianne Witting

Sune Bustad - Jan-Ove Linnerback
Hans Orr - Ping Huang

Christer Roos - Mats Hansson

Kjell Glans - Gunnar Géthberg

Louise de Bondt - Hans Isaksson
Tomas Oskarsson - Eva-Britt Blomkvist
Carl-Henrik Nauclér - Linnea Edlund
Kent Eriksson - David Johansson
Kerstin Ahlgren - Ake Lindén

Claes Hallstrom - Borje Liljekvist
Bengt-Olov Abrahamsson - Leif Eriksson
Inger Lundstrom - Henrik Oldenburg
Sonja Proos - Anneli Stenberg

Gota Hakansson - Gert Mortensen
Lars-Ove Larsén - Agneta Johansson
Ingvar Akesson - Claes Stymne

Anita Ahlstrom - Kent Tibbelin

Christer Cedergren - Johan Ostman
Kjell Berg - Marielle Dietrich

Lisbet Markgren - Ann-Katrin Johansson
Reinhold Norberg - Herman Holmgvist
Anders Viklund - Christer Fransson
Rolf Oskarsson - Ase Andreasson
Inga-Britt Hedstrém - Lars Wermelin
Asa Caviezel - Sven Bilén

Inger Lundberg - Tomas Lundberg
Micke Glyssner - Goran Nordberg
Birgitta Halvarsson - Daniel Carlsson
Hans Johansson - Sylve Larsen

Kent Angskog - Andreas Hedstrom
Anita Solin - Mariann Eriksson

Siv Stenmark - Leif Olofsson

Ulla Wikstrdm - Gun Forss

Karl-Erik Johansson - Britt Ahman
Barbro Gardéus - Gunldg Liljedahl
Sture Mattsson - Ragnar Jansson
Stefan Westlund - Bjorn Andersson
Rainer Trapp - Cristiano Messaad
Ingemar Andersson - Barbro Andersson
Inger Gerle - Susann Mattsson

Rolf Larsson - Eva Wilander

Torbjorn Utterstrom - Hans Holmlund
Bibbi Osth - Gunnar Berg

Jean Ericsson - Karin Laurin
Britt-Marie Nilsson - Gun Nilsson

Jan Lundberg - Lars Forsberg
Ingemar Pettersson - Anders Akerstrém
Britt-Marie Stenberg - Berith Markstedt
Lilian Helgeson - Gerd Svensson
Einar Jonsson - Per Eliasson

Ann-Sofi Frankl - Birgitta Kare

Rune Bjorkman - Elvy Bjérkman

Bruno Danielsson - Géran Wreiber
Jan Hennig - Bengt Haggquist

Bjorn Gaarder - Ruth Berglow
Ann-Charlotte Tranvik - Gabor Barath
Mats Lundquist - Lars Markstrém
Birgitta R&dberg - Roger Nyman

Dag Josefsson - Kalle Hedin

Jan-Olof Johnsson - Thomas Andersson
Marianne Axfjord - Gull-Britt Sved
Stellan Karlsson - Per Tallstrom
Rose-Marie Antonsson - Sune Gustafsson
Gunilla Wiklund - Ingemar Ahigren
Mikael Dahbo - Marie Bjerksjo

Anders Johansen - Per-Ake Jansson
Leif Andersson - Inger Andersson

Alf Térméa - Hasse Borjesson

Inga Sjodin - S6ren Andersson

Kina Hammarlund - Ingemar Rydberg
Bengt Géransson - Kjell Gustavsson
Ingvar Ho0k - Ann-Kristin Olofsson
Eva Benckert - Christina Svensson
Roland Andersson - Per-Olof Fritzon
Margareta Bohimark - Karin Samuelsson
Christer Svensson - Barbro Mickols

15206
89760
10670
9696
4866
39173
78901
9545
6609
6775
27636
40397
21466
81896
46129
5559
28980
2792
79118
15295
26611
80075
87456
91807
19364
40557
37988
94160
18122
55026
56798
86475
16261
4027
13142
56510
12095
9400
46972
48560
56627
43797
2607
46242
14410
38152
86656
31714
57671
9680
41407
1503
13174
36579
23753
39792
1172
9521
41943
80207
37629
5271
46712
30241
86915
2732
9912
7505
35508
93000
23977
27165
9694
17276

79587
88823
82295
88657
41944
1314
82466
9905
17389
9320
87170
36408
79596
22867
89024
58975
39864

17371
2557
20253
9689
8191
35447
78898
20910
52094
55817
27635
89345
15068
81895
40054
27568
22777
38809
33565
14641
55942
9525
34773
40062
67337
2874

9549
83306
13171
43365
88217
44592
21811
32683

8477
11789
13729
46973
56599
63334
43798

5369
82498
11960
61427
86701
48794
86314

9677
53836

1559
14660
66312
23752
44611
87253
15069

38
23607
37630

8478
20124
64309
27194

2764

6776
24055
13638
31659
38621

916
10219

7522
60794
37816

5115
15861
88664
37565
32909

2714
16267
16277
35254
16207
88159
78892
50338
34274
58810
29420

Norsjo BK

Vaddo BK

Hagfors BK

Norsjo BK

ABB BK - Harplinge BK
PBF Uppsala - Uppsalabridgen
Svegs BK

Skellefted BK

Sigtuna BS

Smedstadens BK

Marsta BK - Sigtuna BS
Luled BK

Skellefted BK

Skellefted BK

Skoévde BA

BK Tre Sang, Helsingborg
Skoévde BA

Uppsalabridgen

Rattviks BS

Tjorns BK - Nora BK

Backe BK

Skellefted BK

BK S:t Erik - Uppsalabridgen
Skoévde BA

Réttviks BS

Sigtuna BS - Uppsalabridgen
Folkare BK

Luled BK

Svegs BK

Stenungsunds BK - Tjérns BK
Skovde BA

Skévde BA

Enkopings BS

Enk&pings BS

Tjorns BK

Luled BK

Backe BK

Smedstadens BK
Stenungsunds BK

Backe BK

BK Falkenberg
Boden-Sévast BS

Luled BK

Finnskoga BS

Tjorns BK - Uddevalla BF
Folkare BK

Rattviks BS

Norsjo BK

Sigtuna BS

Skellefted BK

Tjorns BK

Ljungsbro BK - Filbyter Bridge
Gavle BK - Orebridgen
Smedstadens BK

BK Falkenberg

BK S:t Erik

Ljungsbro BK

Skellefted BK

Rattviks BS

Enkopings BS

Vaddo BK

Luled BK

Tjorns BK - Stenungsunds BK
Skellefted BK

Skoévde BA

BK Falkenberg
Sthims-Polisens BS

Tjorns BK

Folkare BK

Sigtuna BS

Skoévde BA

Vaxjobridgen - Emmaboda BK
Skelleftea BK

Gavle BK - Hunnebostrand-Kungshamns BK
Folkare BK

BK Falkenberg

Tjorns BK

Norsjo BK

Stromstads BK

Rattviks BS

Ljungsbro BK
Smedstadens BK

Vaddo BK

Tjorns BK - Stenungsunds BK
Backe BK

Skoévde BA

Vaxjobridgen - Ingelstad BK
Svegs BK

BK S:t Erik - Falu BK
Skoévde BA

Réttviks BS

Rattviks BS
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178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200
201
202
203
203
205
206
207
208
209
210
211
212
213
213
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
238
240
241
242
243
244
245
246
247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269

2945.1
2943.3
2928.0
2925.0
2921.0
2913.8
2911.6
2909.0
2908.4
2908.0
2892.6
2887.0
2886.0
2873.5
2869.0
2868.0
2861.0
2860.8
2859.3
2849.1
2845.7
2840.7
2820.6
2820.0
2819.0
2816.0
2816.0
2808.0
2800.0
2793.0
2790.0
2787.0
2776.0
2748.0
2746.0
2714.0
2714.0
2704.4
2702.0
2693.0
2688.0
2682.5
2677.0
2676.0
2673.0
2672.0
2669.0
2659.4
2659.0
2646.5
2646.0
2644.0
2640.0
2622.0
2620.4
2615.0
2611.6
2605.0
2592.0
2587.0
2572.6
2572.6
2560.0
2537.0
2527.6
2524.0
2520.0
2496.0
2486.0
2482.9
2473.0
2464.0
2449.1
2444.0
2441.0
2420.7
2391.0
2374.0
2348.7
2347.4
2332.4
2324.7
2321.0
2311.0
2292.6
2270.0
2242.0
2223.0
2203.0
2183.0
2158.9
2111.0

47.20
47.17
46.92
46.88
46.81
46.70
46.66
46.62
46.61
46.60
46.36
46.27
46.25
46.05
45.98
45.96
45.85
45.85
45.82
45.66
45.60
45.52
45.20
45.19
45.18
45.13
45.13
45.00
44.87
44.76
44.71
44.66
44.49
44.04
44.01
43.49
43.49
43.34
43.30
43.16
43.08
42.99
42.90
42.88
42.84
42.82
42.77
42.62
42.61
42.41
42.40
42.37
42.31
42.02
41.99
41.91
41.85
41.75
41.54
41.46
41.23
41.23
41.03
40.66
40.51
40.45
40.38
40.00
39.84
39.79
39.63
39.49
39.25
39.17
39.12
38.79
38.32
38.04
37.64
37.62
37.38
37.26
37.20
37.04
36.74
36.38
35.93
35.63
35.30
34.98
34.60
33.83

Mona Beckman - Anita Eriksson

Olof Andersson - Peggy Andersson
Nina Bodforss - Sven-Olof Larsson
Rolf Ohman - Inger Ohman

Martin Hermansson - Christer Tolergard
Johan Karlsson - Lars Andersson
Anders Pettersson - Mats Ostgren
Anita Andersson - Ingela Nilsson
Ann-Sofie Axelsson - Lisbeth Olsson
Bengt Franzén - Ingan Bergstrom
Hans Liljas - Per-Axel Ericsson

Lars Warberg - Olle Johansson

Eva Skoglund - Gunnar Skoglund
Sune Fager - Annica Nassén

Ritva Andersson - Birgitta Karlsson
Bertil Hedlund - Jonny Nilsson

Kurt Eklund - Ingalill Jonsson

Anders Dahl - Ann-Britt Gunnarsson
Mats Andihn - Maud Nicander

Lennart Bergstedt - Ase Bergstedt
Jan Savje - Louise Skeppare

Per Obom - Ake Johansson

Kenneth Andersson - Conny Bohman
Mats Myrén - Unni-Britt Myrén

Soren Westling - Lisa Westling
Margareta Karlsson - Hans Kristenson
Lage Boman - Ann Lundmark
Per-Olov Ek - Ing-Marie Wijkmark
Hakan Gustafsson - Anders Jonsson
Lars Larsson - Bo Lindfeldt

Loucie Lindborg-Mansson - Eva Engvall
Lennart Markgren - Stig-Ake Ifrig
Ingvar Bergquist - Judit Stenberg
Hakan Nyman - Lars Sundberg
Agnetha Ohman - Hans Ohman

Gerry Lindh - Olle Ivert

Leif Martinsson - Eva Glans

Kari Mykkanen - Thomas Ekblom

Per Jansson - Anna-Karin Mattsson
Bo Sahlstrom - Roland Persson
Lise-Lotte Grape - Ingegerd Nordwall
Ada Engstrom - Barbro Sandberg
Kent Asplund - Bengt-Ake Rénnborg
Sven-Erik Emanuelsson - Mats Wiklund
Guy Rosqvist - Per-Olof Bergquist
Christina Martensson - Ulf Ramstedt
Per-Ake Karlsson - Niklas Sundberg
Jan-Erik Holm - Claes Hammarling
Christer Bergqvist - Inga-Britt Seppanen
Ginger Stahl - Evald Gotthardsson
Bent Castella - (TY) Irmhild Heiken
Sveinn Bjarman - Stefan Erlandsson
Britta Hallstrand - Jennie-Ann Karlsson
Lars-Olof Henriksson - Evy Sahlen
Janne Andersson - Hans-Erik Moberg
Tord Lohman - Gunvor Lohman
Rebecca Nelje - Jan Holmstrém

Leif Riddarsporre - Agneta Nilsson
Sten Holting - Lena Thunell

Bodil Johansson - Kenneth Blomgren
Else-Britt Lindblom - Peter Rosenqvist
Sven Arne Persson - Gunilla Krook
Ann-Marie Larsson - Rigmor Ohlander
Inger Stenlund - Anne-Marie Darth
Ann-Lis Sundelin - Shiler Hussami
Christina Berthag - Hans Carlsson
Anna-Lisa Andersson - Marlies Almemark
Jan Janson - Ove Olsson

Ingrid Hasselgren - Britt-Inger Ryding Johansson

Brittmarie Frolén - Peter Johansson
Rolf Claesson - Hans Ohlsson

Dahn Gidstedt - Leif Cederhorn

Lena Dahlman - Rolf Lindberg

Tomas Joelsson - Torbjorn Eriksson
Arne Baubhr - Britt-Inger Bauhr

Marie Gothberg - Joakim Tillas
Ann-Britt Tornkvist - Gertrud Nilsson
Bengt-Ake Carlsson - Birgitta Séderlund
Agneta Troselius - Kalle Bergdahl
Chatrine Norrbelius - Ingrid Johansson
Ylva Zackrisson - Ingegerd Lindkvist

Birgitta Jernbom-Lundberg - Ove Lundberg

Bjorn Spetz - Hans Eriksson

Anders Brandel - Monika Frykelid
Randi Rdsnés - Ragnar Sundh

Ewa Emilsson - Siw Lovgren

Nils Erik Magnusson - Lasse Jons
Eva-Lott Coskun - Chister Andersson

Carl-Gustav Johansson - Daniel Andersson

Odd Nordanas - Christina Nordands
Gunnar Krook - Bertil Nilson
Bernd Danner - Lars Bjarneskans

80310
49473
48986
4997
46969
60951
29628
2991
1818
40074
9792
42413
87656
3146
13224
94101
81434
13441
1695
59542
43712
64346
24540
30253
27606
42662
17370
59352
14554
1351
61815
56509
27536
60442
41574
56944
7463
40976
57189
89668
41842
21632
26431
10424
55187
38838
82297
12176
42898
29523
92483
2817
64862
64535
89969
61
42427
51431
66554
89824
12362
15746
34689
43376
48125
33608
10925
37924
46966
50144
25647
57964
85022
33025
17240
19806
31269
34287
53653
42037
29423
30068
63679
66689
78903
37259
64700
66527
37821
43875
3599
37610

44097
78948
91839
79565
33024
7941
61718
1079
1855
40059
29445
30273
87658
17523
31546
49620
81433
26110
2439
59543

31801
39431
31566
27605
93804
35884
10359
65097
60127
61816
20310
14437
17082
41544
56942
8552
32214
57191
40586
87558
51979
46789
43330
57440
65041
62355

89248
31827

30126
64863
60941
90693
7333
42433
29389
66555
2942
87389
14090
92978
91804
48126
48914
83266
10903
63607
19486
84257
57963
255
46979
17239
63743
46239
31142
56508
42038
61119
50989
63684
66693
42043
91841
64703
66526
63603
43874
81717
54875

Marsta BK - Sigtuna BS
Folkare BK

Skoévde BA

Ljungsbro BK
Stenungsunds BK

Sala BS

Enk&pings BS

BK Falkenberg

Skoévde BA

Skovde BA

Hagfors BK

BK Falkenberg

Vaddo BK

Gavle BK

BK Falkenberg

Folkare BK

Skellefted BK
Vaxjobridgen
Partille/M6Inlycke BK - Boras BA
Sigtuna BS

Kalmarsunds BK

Luled BK - Boden-Savast BS
Ankarsrums Bridgeklubb
Folkare BK

BK Albrekts

BK Falkenberg - Sldinge BK
Norsjo BK

Skovde BA

Skoévde BA

Vasterviks BK - BK Debut
Véaxjobridgen

Luled BK

Norsjo BK

Lulea BK

Uppsalabridgen
Skellefted BK

Orust BK - Tjérns BK
Enképings BS

Finnskoga BS
Uppsalabridgen - PBF Uppsala
Tjorns BK

EPBK - Enkdpings BS
BK Falkenberg

Réttviks BS

Sigtuna BS

Backe BK

Norsjd BK

Sigtuna BS

Norsjo BK

Folkare BK

Ljungsbro BK
Uppsalabridgen
Vaxjébridgen
Stenungsunds BK
Enk&pings BS

Skelleftea BK

BK Albrekts

Filbyter Bridge - Ljungsbro BK
Réttviks BS
Stenungsunds BK - Tjérns BK
Kisa BS - Ankarsrums Bridgeklubb
Hagfors BK
Smedstadens BK

Skoévde BA

Luled BK

Sldinge BK - BK Falkenberg
Hagfors BK

BK Falkenberg
Stenungsunds BK
Enkd&pings BS

BK Falkenberg

Marsta BK

Folkare BK
Stenungsunds BK

Tjorns BK

Orebridgen - BK S:t Erik
Finnskoga BS

PBF Uppsala

Luled BK

Svegs BK

Raéttviks BS

BK Bjorken

Skoévde BA

Finnskoga BS

Svegs BK

Skoévde BA

Finnskoga BS

Ljungsbro BK

BK Falkenberg

Tjorns BK - Stenungsunds BK
Hagfors BK

Vaddo BK
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270 C8 2105.1 33.74 Kurt-Lennart Nordin - Egon Lodahl 58261 26233 Backe BK
271 09 2074.0 33.24 Ullis Rosell - Inge Wilsson 49118 43366 Skovde BA
272 G5 1887.3 30.24 Birger Ericsson - Bert Ahlstrom 35355 61431 Folkare BK
273 A7 1658.3 26.58 Bo Johansson - Gustav Wirengard 47121 64289 Ankarsrums Bridgeklubb - Gamleby BK
1 # 962 Basta kontrakt 2 K2 Basta kontrakt 3 » K854 Basta kontrakt
Nord v D5 54 O =-450 Ost v74 5NT O =-460 Syd v 832 24 SD-1-100
Ingen + D98543 NS 410532 ov 4762
»D8 & ¢ v & NT #KD1052 & ¢ v & NT *E94 & ¢ v & NT
«EKD4 41075 N47 223 97 « ED86 N3 5232 93  Knl107 N48476
vEK764 vKnl109 S47 223 vEKD932 v108 S35232 vKD1097 v Kn64 S 48476
+10 ¢ K62 09 6 111110 + K6 ¢ E87 O 108 119 11 ¢ EK10 ¢ Kn4 085857
#E96 #Kn1073 V 9 6 111010 #986 #E743 vV 108 119 11 #1065 #KDKn87 V85857
4« Kn83 4 Kn10543 « ED62
v 832 v Kn65 vE5
¢ EKn7 + DKn94 + D9853
*K542 +Kn *32
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
E8 E14 3NO-3 #4 150 2600 0.0|D11 D3 6vV-2 «#K 100 2600 00| F3 F6 5#40-2 vA 200 260.0 0.0
R4 R5 3NV-2 ¢5 100 2560 40| 4 I3 6vV-1 v4 50 2570 30| L5 L7 24 N+2 ¥¢J 170 2550 5.0
D19 D2 2NV-2 43 100 2560 40| N7 N6 6v O-1 #J 50 257.0 3.0(/010 019 34 N+1 ¥4 170 2550 5.0
Q20 Q4 4v V-2 ¢4 100 2560 40| G6 G16 2v V+2 #Q -170 253.0 7.0|G18 G5 24 S+2 ¢K 170 255.0 5.0
B4 B77 4v V-1 +4 50 2430 170(B80 Bl 2vV+2 #Q -170 253.0 7.0|Q24 Q22 34 N+1 ¥4 170 2550 5.0
05 021 4v0O-1 ¢A 50 2430 170(G10 G5 2NO+2 4 -180 2500 10.0| F2 F4 24 N+1 ¥J 140 2340 26.0
R6 R3 4v V-1 +¢5 50 2430 170| L2 L5 2¢vV+3 &K -200 236.0 24.0| O5 O20 34 S= +¢A 140 2340 26.0
F7 F8 24 V-1 3 50 2430 170( P2 P4 2vV+3 &K -200 236.0 240| F7 F8 34 N= &K 140 234.0 26.0
I8 16 4v V-1 &2 50 2430 170( T2 T5 2vV+3 &K -200 236.0 240| R7 R2 34 S= ¢A 140 2340 26.0
E9 E10 4v V-1 ¢4 50 2430 170 R4 R5 2vyV+3 &K -200 2360 240| A8 A4 34 S= +K 140 2340 26.0
E12 E7 4v V-1 ¢4 50 2430 170 R6 R3 2v V+3 &K -200 236.0 24.0| U8 U3 34 S= vA 140 2340 26.0
M14 M13 34 V-1 #Q 50 243.0 17.0| Q7 Q12 2v V+3 &K -200 236.0 24.0| D9 D16 34 N= v4 140 2340 26.0
Ql7 Q9 4v V-1 ¢4 50 2430 170 N8 N5 2¢vV+3 5 -200 2360 240| F9 F1 34 N= &#J 140 2340 26.0
D20 D5 4v V-1 &2 50 2430 170( U8 U3 2vV+3 &K -200 236.0 24.0| S9 S2 24 N+1 ¥4 140 2340 26.0
G6 G16 INV=  +8 -90 2320 28.0 (K10 K1 2v V+3 &K -200 236.0 24.0|B10 B73 24 S+1 ¢Q 140 234.0 26.0
E2 E5 1lvV+2 ¢4 -140 2240 36.0|N11 N2 3vV+2 &«K -200 236.0 24.0|Q11 Q20 34 S= ¢A 140 234.0 26.0
L2 L5 1vV+2 9 -140 2240 36.0|E12 E7 2v V+3 &K -200 236.0 24.0|D13 D2 24 S+1 ¢K 140 234.0 26.0
L3 L11 1v V+2 8 -140 2240 36.0|M14 M13 2v V+3 #K -200 236.0 24.0|016 O3 34 N= vJ 140 234.0 26.0
07 014 1y V+2 #Q -140 2240 36.0(J15 J2 2vV+3 &K -200 236.0 24.0|B70 B13 34 S= +¢A 140 2340 26.0
B9 B72 3v V= 48 -140 2240 36.0| Q8 Q15 2NO+3 T -210 2220 38.0|B74 B9 34 S= ¢A 140 234.0 26.0
F10 F5 1v V+2 ¢5 -140 2240 36.0|J11 J6 2v V+4 &K -230 220.0 40.0|B75 B8 24 S+1 42 140 234.0 26.0
B11 B70 1lv V+2 5 -140 2240 36.0| F7 F8 4v V= 2 -420 2170 43.0|B80 B2 34 N= +J 140 234.0 26.0
Al A3 1lvV+3 ¢5 -170 191.0 69.0| 110 15 49y O= &J -420 217.0 43.0| J1 J3 24 N= v4 110 206.0 54.0
01 013 1vV+3 ¢4 -170 1910 690 F3 F6 3NO+1 ¢4 -430 2140 46.0| Q2 Q14 24 N= &K 110 206.0 54.0
Ql Q13 1vV+3 ¢5 -170 1910 69.0( Al A3 4v V+1 &K -450 135.0 125.0| H3 H6 24 N= &K 110 206.0 54.0
P2 P4 1vyV+3 ¢4 -170 1910 69.0| O1 O13 4v V+1 3  -450 135.0 125.0| O6 022 24 N= &K 110 206.0 54.0
H3 H6 1v V+3 #Q -170 1910 69.0| Q1 Q13 4v V+1 &K -450 1350 1250| U6 U2 24 S= vK 110 206.0 54.0
N3 N10 2v V+2 46 -170 191.0 69.0| T1 T3 4v V+1 &T -450 135.0 125.0|N11 N2 24 N= &K 110 206.0 54.0
14 13 2¢V+2 #Q -170 191.0 69.0| A2 A5 4v V+1 &K -450 135.0 125.0 |M14 M13 24 N= v4 110 206.0 54.0
M4 M7 1v V+3 ¢9 -170 191.0 69.0| E2 E5 4v V+1 #Q -450 1350 125.0(G15 G3 24 N= ¥4 110 206.0 54.0
J5 J12 1vV+3 ¢5 -170 191.0 69.0| F2 F4 4v V+1 &K -450 135.0 125.0|D17 D5 24 N= vJ 110 206.0 54.0
M5 M9 1v V+3 ¢3  -170 1910 69.0| H2 H4 4v V+1 &K -450 1350 125.0({018 O4 24 N= ¢J 110 206.0 54.0
N7 N6 1vy V+3 #Q -170 191.0 69.0| 12 111 4v O+1 &J -450 135.0 125.0|Q23 Q6 24 S= vK 110 206.0 54.0
Q7 Q12 3vV+1 49 -170 1910 69.0| H3 H6 4v V+1 &K -450 135.0 125.0| O1 024 4v V-1 ¢6 100 183.0 77.0
A8 A4 2vV+2 3 -170 191.0 69.0| N3 N10 4y O+1 &J -450 135.0 125.0| E3 E6 4v V-1 ¢2 100 183.0 77.0
K8 K3 1lvV+3 43 -170 191.0 69.0| Q3 Q18 4v V+1 &#K -450 135.0 125.0| M4 M7 4v V-1 48 100 183.0 77.0
T8 T4 1lvV+3 ¢4 -170 191.0 69.0| C4 C7 4vV+l &5 -450 135.0 1250| M5 M9 4v V-1 4K 100 183.0 77.0
C9 C2 1vV+3 ¢5 -170 191.0 69.0| D4 D17 4v V+1 &2  -450 1350 1250 P6 Pl 3v V-1 45 100 1830 77.0
FO F1 1vV+3 ¢4 -170 1910 69.0( E4 E6 4vy V+1 &K -450 1350 1250( U7 Ul 4vy V-1 45 100 1830 77.0
G9 G17 1lv V+3 ¢9 -170 1910 69.0( K4 K7 4vV+1l &K -450 1350 1250| G8 G4 4v V-1 45 100 183.0 77.0
L9 L10 1vV+3 #Q -170 191.0 69.0| N4 N9 4v V+1 &K -450 135.0 125.0| E9 E14 3v V-1 45 100 183.0 77.0
011 022 1v V+3 ¢8 -170 191.0 69.0| S4 S7 4v O+1 #J -450 135.0 125.0| 19 11 3vV-1 &5 100 1830 77.0
J14 J3 24 V+2 #Q -170 191.0 69.0| J5 J12 4v V+1 &K -450 135.0 125.0| 110 I5 4v V-1 &K 100 1830 77.0
015 02 1vV+3 ¢3 -170 191.0 69.0| M5 M9 4v V+1 &K -450 135.0 125.0|L10 L11 3#0O-1 +3 100 183.0 77.0
Q16 Q2 1v V+3 ¢5 -170 191.0 69.0| O5 021 4v V+1 &K -450 135.0 125.0|L13 L2 4v V-1 +7 100 183.0 77.0
G18 G4 2vV+2 48 -170 191.0 69.0| M6 M1l 4v V+1 T  -450 135.0 1250 G1 G12 24 S-1 ¥vK -50 146.0 114.0
B73 B8 2vyV+2 ¢5 -170 191.0 69.0| O6 023 4v V+1 &K -450 135.0 125.0| L1 L8 34 N-1 ¥J -50 146.0 114.0
B80 Bl 1vV+3 ¢9 -170 1910 69.0| P6 Pl 4v V+1 &K -450 1350 1250 12 111 34 N-1 &K -50 146.0 114.0
T2 T5 2vV+3 #Q -200 158.0 102.0| Q6 Q24 4v V+1 &#K -450 135.0 125.0| N3 N10 24 N-1 vJ -50 146.0 114.0
F3 F6 1vV+4 &8 -200 158.0 1020| S6 S5 4v V+1 &K -450 1350 1250 14 I3 24 N-1 +v4 -50 146.0 114.0
D4 D17 2vy V+3 #Q -200 158.0 102.0| T6 T7 4y O+1 &J -450 135.0 125.0| L4 L12 3¢ S-1 ¢K -50 146.0 114.0
L8 L14 1vV+4 49 -200 158.0 102.0| U6 U2 4v O+1 #J -450 135.0 125.0| N4 N9 34 N-1 v4 -50 146.0 114.0
S8 S3 1vV+4 ¢5 -200 158.0 1020 D7 D9 4v V+1 &K -450 135.0 125.0| K6 K5 34 N-1 &K -50 146.0 114.0
N11 N2 2vV+3 ¢4 -200 158.0 102.0| G7 G3 4v V+1 v4  -450 135.0 1250| R6 R3 34 N-1 vJ -50 146.0 114.0
L12 L7 1lvV+4 8 -200 158.0 102.0| 7 112 4v V+1 &K -450 135.0 125.0| T6 T7 3¢ S-1 K -50 146.0 114.0
P3 P5 3NO= #4 -400 149.0 111.0| O7 O14 4v V+1 &K -450 135.0 125.0| J8 Ji11 34 N-1 +v6 -50 146.0 114.0
G10 G5 3NV= ¢5 -400 149.0 111.0| R7 R2 4v V+1 &K -450 135.0 125.0| S8 S3 24 N-1 «K -50 146.0 114.0
F2 F4 4v V= ¢5 -420 96.0 164.0( U7 Ul 4vy O+1 &J -450 135.0 125.0| K9 K2 34 N-1 «#K -50 146.0 114.0
H2 H4 4v V= ¢3 -420 96.0 1640| A8 A4 4vy V+1 &K -450 135.0 125.0|F10 F5 24 N-1 &J -50 146.0 114.0
12 111 4v V= ¢4 -420 96.0 164.0| C8 C3 4v V+1 &K -450 135.0 125.0(S10 S1 34 N-1 &K -50 146.0 114.0
B3 B78 4v V= 42 -420 96.0 164.0| E8 E14 4v V+1 &K -450 135.0 125.0|D11 D18 34 N-1 &K -50 146.0 114.0
Q3 Q18 4v V= ¢8 -420 96.0 1640( I8 16 4v O+1 ¢Q -450 135.0 125.0|B12 B71 24 S-1 ¥K -50 146.0 114.0
C4 C7 4vV= ¢8 420 96.0 164.0| K8 K3 4v V+1 &K -450 135.0 125.0(J12 J7 24 N-1 &K -50 146.0 114.0
S4 S7 4v 0= ¢A 420 96.0 164.0| B9 B72 4v V+1 &K -450 135.0 125.0|J15 J4 24 N-1 &K -50 146.0 114.0
C6 C5 4v V= 5 -420 96.0 164.0| C9 C2 4y V+1 &K -450 135.0 125.0(G16 G7 24 N-1 &K -50 146.0 114.0
D6 D14 4vy V= ¢9 -420 96.0 164.0| E9 E10 4v V+1 &K -450 135.0 125.0|J16 J2 24 N-1 &K -50 146.0 114.0
K6 K5 4v V= ¢4 -420 96.0 1640| F9 F1 4v V+1 &K -450 135.0 125.0|017 Q9 34 S-1 &J -50 146.0 114.0
M6 M11 4v V= 46 -420 96.0 164.0| G9 G17 4v V+1 #Q -450 1350 125.0(Q17 Q3 34 N-1 vJ -50 146.0 114.0
06 023 4v V= ¢4 -420 96.0 1640 H9 H1l 4v O+1 &J -450 135.0 125.0|Q21 Q5 34 N-1 vJ -50 146.0 114.0
P6 Pl 4¢vV= 48 -420 96.0 1640| 19 11 4vV+1 &K -450 135.0 125.0|B76 B7 24 N-1 vJ -50 146.0 114.0
S6 S5 4vV= 43 -420 96.0 1640| O9 018 4v V+1 &K -450 1350 1250 A1 A3 34 N-2 vJ -100 100.0 160.0
T6 T7 4v O= 43 -420 96.0 1640|F10 F5 4vV+1 &«K -450 135.0 125.0| A2 A5 34 N-2 K -100 100.0 160.0
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D7 D9 4vV= 8 -420 96.0 164.0M10 M2 4v V+1 &K -450 135.0 125.0| P2 P4 34 N-2 &K -100 100.0 160.0
G7 G3 4v V= 6 -420 96.0 164.0|Q10 Q19 4v V+1 &K -450 135.0 125.0| P3 P5 34 N-2 &K -100 100.0 160.0
H7 H8 4v V= ¢4 -420 96.0 164.0|B11 B70 4v O+1 #J -450 135.0 125.0| B4 B79 34 S-2 v7 -100 100.0 160.0
N8 N5 4v V= 5 -420 96.0 164.0(D12 D15 4v O+1 #J  -450 135.0 125.0| K4 K7 34 S-2 vK -100 100.0 160.0
Q8 Q15 4v V= 5 -420 96.0 164.0|G12 G11 4v V+1 v4  -450 135.0 125.0| S4 S7 44 S-2 +A -100 100.0 160.0
U8 U3 4vV= ¢4 420 96.0 164.0|(N12 N1 4v V+1 «K -450 1350 125.0( J6 J13 34 N-2 v9 -100 100.0 160.0
19 11 4vV= 43 -420 96.0 164.0|D13 D1 4y V+1l &K -450 135.0 125.0| M6 M1l 44 N-2 «K -100 100.0 160.0
K9 K2 4v V= #Q -420 96.0 164.0|E13 E1 4v V+l v7  -450 1350 1250| N7 N6 44 N-2 «K -100 100.0 160.0
09 018 4v V= 9 -420 96.0 1640(L13 L1 4v O+1 42 -450 135.0 125.0| D8 D10 34 N-2 &K -100 100.0 160.0
110 15 4vV= 8 -420 96.0 164.0(G15 G2 4v V+1 5 -450 135.0 1250 N8 N5 34 N-2 vJ -100 100.0 160.0
Q10 Q19 4v V= ¢3 -420 96.0 164.0|015 O2 4v V+1 «K -450 1350 125.0( O8 O15 34 N-2 #K -100 100.0 160.0
S10 S1 4vV= #Q -420 96.0 164.0(D16 D8 4v V+1 #K -450 1350 1250| T8 T4 34 N-2 K -100 100.0 160.0
D11 D3 4vV= ¢4 -420 96.0 164.0|J16 J1 4v V+1 &K -450 135.0 125.0| G9 G14 4¢ S-2 T -100 100.0 160.0
Ji1 J6 4v V= 48 -420 96.0 164.0|016 O8 4y V+1 &K -450 135.0 1250| H9 H1 34 N-2 «K -100 100.0 160.0
Q11 Q21 4v V= ¢9 -420 96.0 164.0|Q16 Q2 4v V+1 #Q -450 1350 1250 L9 L14 34 S-2 vK -100 100.0 160.0
G12 G11 4v V= ¢5 -420 96.0 164.0|017 O3 4v V+1l &K -450 1350 125.0(G10 G17 34 N-2 K -100 100.0 160.0
M12 M3 4v V= #Q -420 96.0 164.0|Q17 Q9 4y V+l #Q -450 135.0 125.0(013 O7 34 N-2 vJ -100 100.0 160.0
N12 N1 4v V= ¢5 -420 96.0 164.0|D18 D10 4v V+1 &K -450 1350 125.0(D14 D7 34 N-2 «K -100 100.0 160.0
012 024 4v O= +¢A -420 96.0 164.0|G18 G4 4v V+1 «K -450 1350 125.0(Q18 Q10 34 N-2 K -100 100.0 160.0
D13 D1 4v V= ¢8 -420 96.0 164.0|D20 D5 4y V+1 #K -450 1350 125.0( Bl B3 3v V= 4 -140 53.0 207.0
E13 El1 4vV= 43 -420 96.0 164.0(Q20 Q4 4v V+1 5 -450 135.0 125.0| D1 D15 3vV= 7 -140 53.0 207.0
L13 L1 4v V= ¢9 -420 96.0 164.0|Q22 Q5 4v V+1l &K -450 1350 125.0| E1 E8 3vV= v2 -140 53.0 207.0
Gl4 G8 4v V= #8 -420 96.0 164.0|Q25 Q23 4v O+1 #J -450 1350 1250 Q1 Q12 3v V= v2 -140 53.0 207.0
Gl15 G2 4vV= ¢5 420 96.0 164.0|B69 B12 4v O+1 #J -450 1350 125.0( O2 O14 3v V= ¢7 -140 53.0 207.0
JI5 J2 4v V= #9 420 96.0 164.0(B71 B10 4v V+1 &K -450 135.0 125.0| T2 T5 3vV= ¢2 -140 53.0 207.0
D16 D8 4v V= 42 -420 96.0 164.0|B73 B8 4y V+1 &K -450 1350 125.0| E4 E12 2v V+1 7 -140 53.0 207.0
Ji6 J1 4v V= 5 -420 96.0 164.0(B74 B7 4v V+1 &K -450 135.0 1250| R4 R5 3vy V= ¥3 -140 53.0 207.0
016 08 4vV= #Q -420 96.0 164.0|B75 B6 4v V+1 &K -450 1350 125.0( B5 B78 2v V+1 ¢2 -140 53.0 207.0
017 O3 4vV= ¢3 -420 96.0 164.0|B76 B5 4v V+1 3 -450 1350 1250 E5 E7 3vV= ¢7 -140 53.0 207.0
Q22 Q5 4y V= ¢3 -420 96.0 164.0|B79 B2 4v V+1 «K -450 1350 1250 C6 C5 3vV= ¢7 -140 53.0 207.0
Q25 Q23 4v V= ¢4 -420 96.0 164.0| L3 L11 3NV+2 +Q -460 39.0 221.0( D6 D20 3v V= 48 -140 53.0 207.0
B69 B12 4v V= 8 -420 96.0 1640| P3 P5 3NO+2 43 -460 39.0 221.0| S6 S5 2vO+1 ¢2 -140 53.0 207.0
B71 B10 4v V= ¢4 -420 96.0 1640| B4 B77 3NO+2 ¢Q -460 39.0 221.0| H7 H8 3v V= 45 -140 53.0 207.0
B74 B7 4vV= #Q -420 96.0 1640| M4 M7 3NO+2 ¢4 -460 39.0 221.0| 18 16 3vV= 7 -140 53.0 207.0
B76 B5 4v V= ¢4 -420 96.0 1640| O4 019 3NO+2 ¢Q -460 39.0 221.0| K8 K3 3vV= 45 -140 53.0 207.0
B79 B2 4vyV= 48 -420 96.0 1640 H7 H8 3NO+2 43 -460 39.0 221.0| Q8 Q13 3vV= 4 -140 53.0 207.0
Q26 Q14 3NV+1 ¢4  -430 440 216.0| J7 JI0 3NO+2 +Q -460 39.0 221.0( C9 C2 3vV= ¢7 -140 53.0 207.0
A2 A5 4v O+1 v2 450 28.0 232.0| L8 L14 3NO+2 3 -460 39.0 2210 Q9 Q16 3v V= ¢7 -140 53.0 207.0
E4 E6 4vV+1l 8 -450 28.0 232.0| T8 T4 3NO+2 &3 -460 39.0 221.0|M10 M2 3v V= ¢7 -140 53.0 207.0
K4 K7 4v V+1 46 -450 28.0 232.0|/010 020 3NO+2 ¢4  -460 39.0 221.0|G11 G6 2v V+1 44  -140 53.0 207.0
N4 N9 4v V+1 ¢4  -450 28.0 2320|011 022 3NO+2 3 -460 39.0 221.0|E13 E2 2vV+1l 44  -140 53.0 207.0
04 019 4vV+1 8 -450 28.0 232.0(Q11 Q21 3NO+2 +J -460 39.0 221.0|J14 J5 3vV= &K -140 53.0 207.0
U6 U2 4vV+1l ¢3 450 28.0 232.0|L12 L7 3NO+2 Q -460 39.0 221.0(Q15 Q26 3v V= ¢7 -140 53.0 207.0
17 112 4v V+1 &2  -450 28.0 232.0|M12 M3 3NO+2 ¢Q -460 39.0 221.0|D19 D3 2v V+1 ¢7 -140 53.0 207.0
J7 J10 5v O= ¢A -450 28.0 232.0|012 024 3NO+2 ¢4  -460 39.0 221.0|(B72 B11 2v V+1 7 -140 53.0 207.0
R7 R2 4vV+l1 #Q -450 28.0 232.0(J14 J3 3NO+2 44 -460 39.0 221.0| Q4 Q19 34 N-3 #Q -150 23.0 237.0
C8 C3 4vV+l ¢Q -450 28.0 232.0(D19 D2 3NO+2 9 -460 39.0 221.0( 17 112 44 N-3 vJ -150  23.0 237.0
H9 H1 4v V+1 ¢4 -450 28.0 232.0(Q26 Q14 3NO+2 &5 -460 39.0 221.0| Q7 Q25 INO+2 ¢3 -150 23.0 237.0
K10 K1 4vV+1 «8 -450 28.0 2320| B3 B78 4v O+2 «J -480 13.0 247.0|B77 B6 3vS-3 &5 -150 23.0 237.0
010 020 4y V+1 8  -450 28.0 232.0| D6 D14 4v O+2 #J -480 13.0 247.0(011 021 2v V+2 ¢7 -170 18.0 242.0
D18 D10 4v V+1 ¢8 -450 28.0 232.0| S8 S3 4vyV+2 &5 -480 13.0 2470 H2 H4 2vV+3 +2 -200 13.0 247.0
B75 B6 4vV+1 ¢4  -450 28.0 2320| K9 K2 4v V+2 &K -480 13.0 2470| C8 C3 3vV+2 ¢7 -200 13.0 247.0
S9 S2 3NO+2 #3  -460 11.0 249.0| L9 L10 4v V+2 &K -480 13.0 247.0|D12 D4 2v V+3 7 -200 13.0 247.0
M10 M2 3NV+2 ¢5 -460 11.0 249.0| S9 S2 4y V+2 &K -480 13.0 247.0|012 023 2v V+3 +2 -200 13.0 247.0
Tl T3 5vV+1l #Q -480 50 255.0(J13 J4 4v V+2 97 -480 13.0 2470|K10 K1 3vV+3 &A -230 8.0 252.0
Q6 Q24 4v V+2 #Q -480 50 255.0 (G14 G8 4v V+2 #K -480 13.0 2470| T1 T3 4¢vDS-2 ¢K -300 5.0 255.0
U7 Ul 4vV+2 #Q -480 50 255.0f C6 C5 3NO+3 «4  -490 3.0 257.0(N12 N1 44DN-2 #K -300 5.0 255.0
D12 D15 4v V+2 #Q -480 5.0 255.0 K6 K5 3NO+3 &3  -490 3.0 257.0(M12 M3 4v V= 7 -620 2.0 258.0
JI3 J4 4v V+3 «Q -510 0.0 260.0(S10 S1 24DS-5 vA -1400 0.0 260.0( C4 C7 4v V+1l 7  -650 0.0 260.0
- M8 126.7 - M8 126.7 - M8 126.7
E3 - 128.4 E3 - 128.4 L3 - 133.7
L4 - 1115 L4 - 1115 us - 116.3
us - 116.3 us - 116.3 - A7 69.1
- A7 69.1 - A7 69.1 - R1 133.4
J8 - 97.9 J8 - 97.9 - Jio 127.4
- R1 133.4 - R1 133.4 - C1 145.4
- C1 145.4 - C1 145.4 | E10 - 111.8
H10 - 107.2 H10 - 107.2 H10 - 107.2
- G1 131.2 - G1 131.2 - G2 102.0
- B13 108.8 - B13 108.8 | B69 - 96.9
4 ~E6 Basta kontrakt 5 » E£9864 Basta kontrakt 6 o E7 Basta kontrakt
Vast vEDS8 7NT N =2220 Nord vKn 5# O D -2 300 Ost v EKD3 5v S =450
Alla ¢ E987 NS ¢ EKn9642 ov + D105
#ED102 & ¢ v & NT *Kn & ¢ v & NT #E854 & ¢ v & NT
«Knl09 4KD873 N 1013139 13 «D1072 o- N3 7 5 106 « K82 4Knl09543 N 8 10105 8
vKn652 v43 S 1013139 13 vD109 vK764 S 375 106 v104 v Kn2 S 8 10116 9
¢ D2 ¢ 65 010040 ¢ K73 ¢ D1085 096837 ¢Kn642 +K8 053273
#Kn754 #9863 V10040 #ED8  #K7432 V86837 #DKn107 #K32 V53273
4542 & KKn53 « D6
v K1097 v E8532 v 98765
¢ KKn1043 *- ¢ E973
&K #10965 *96
Par Kontr ut Res Poéng Par Kontr ut Res Poéang Par Kontr ut Res Poéng
T3 T6 7¢ S= 49 2140 2600 00| P2 P4 24DN+2#2 1070 2600 00| E2 E9 44DO-2 #9 500 2580 20
Al A5 6NN+1 4Q 1470 248.0 12.0|B75 B10 4eaDN= #3 790 2580 20| I5 14 2aDO-2 #9 500 2580 20
L1 L8 6NN+1 «3 1470 248.0 12.0| N4 N11 34DN= ¥6 730 255.0 50| G6 G18 34DO-2 v9 500 2580 20
A2 A4 6NN+1 &K 1470 248.0 12.0(B80 B3 34DN= ¢8 730 2550 50| KL K3 4vy S+2 42 480 2530 70
E3 E6 6NN+1 8 1470 248.0 12.0| Ol O23 44 N= v4 620 225.0 35.0|D20 D7 4v S+2 &K 480 2530 7.0
C5 C8 6NN+1 43 1470 248.0 120 R1 R3 44 N= v4 620 2250 350 L4 L7 3NN+2 48 460 249.0 11.0
M5 M8 6NN+1 &7 1470 2480 120| T2 T4 44 N= 8 620 2250 350| F8 F1 3NN+2 &5 460 249.0 11.0
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120| F3 F5 44
12.0| 13 111 44
120| G4 G15 44
12.0| K5 K8 44
12.0| S5 S8 44
28.0| D6 D17 44
28.0| 06 021 44
28.0| U6 U5 44
280| C7 C6 44
28.0| S7 S6 44
34.0| H8 H1 4e
400 | Q8 Q12 44
40.0| C9 C4 4a
40.0| D9 D11 4e
400| G9 G5 4e
40.0 | D10 D16 44
46.0 | F10 F6 4a
79.0 | J10 J11 4
79.0 |D13 D3 44
79.0 | L13 L3 44
79.0 |D15 D2 44
79.0 |G16 G8 44
79.0| J16 J3 4
79.0 [Q18 Q4 4a
79.0 |D20 D7 44
79.0 Q22 Q6 5
79.0|Q24 Q7 5vDC
790| D1 D5 4vDO-
79.0| M2 M9 34 N+1 8 170 183.0 77.0|D15
79.0| O2 O13 34 N+1 #2 170 183.0 77.0|J16
79.0| Q2 Q13 24 N+2 #3 170 183.0 77.0|Q18
790| T7 T8 34 N+1 v6 170 183.0 77.0|Q23
79.0 |E14 E10 24 N+2 v4 170 183.0 77.0|Q24
79.0 |D18 D12 34 N+1 #4 170 183.0 77.0| D1
79.0 |B70 B69 34 N+1 #2 170 183.0 77.0| Ji
79.0 |B77 B8 24 N+2 &7 170 1830 77.0| P1
79.0| 09 016 24 173.0 87.0| M2
79.0 | B11 B74 3N 46 150 173.0 87.0| Q2
790| C1 C3 34 42 140 158.0 102.0| T3
790| S1 S3 3 #3 140 158.0 102.0| M4
79.0| E2 E9 34 +8 140 158.0 102.0| N4
790| G2 G1 24 158.0 102.0| C5
79.0| B5 Bl 34 ¢5 140 158.0 102.0| E5
79.0| M5 M8 24 v4 140 158.0 102.0| Q5
79.0 | M6 M10 24 158.0 102.0| D6
79.0 |011 020 1a &2 140 158.0 102.0| O6
79.0 |D14 D8 34 42 140 158.0 102.0| P6
79.0 |G14 G10 3 ¢5 140 158.0 102.0| J7
79.0 |017 O4 34 v4 140 158.0 102.0| R7
162.0 | B73 B12 3e v6 140 158.0 102.0| U7
162.0 |B78 B7 34 ¢5 140 158.0 102.0| H8
162.0| L4 L7 2¢ 144.0 116.0 | K9
162.0| T1 T5 2¢ 42 90 142.0 118.0 |H10
162.0| N8 N7 44 vA 50 139.0 121.0| 110
162.0| J15 J6 3% vJ 50 139.0 121.0| J10
162.0 |Q10 Q17 1v 136.0 124.0 |011
162.0| AL A5 3¢ 43  -100 91.0 169.0 |012
162.0| J1 J5 4e #3  -100 91.0 169.0 | E13
162.0| K1 K3 4a «2 -100 91.0 169.0 | J13
162.0| N1 N3 4e v4 -100 91.0 169.0 |D14
162.0| Ul U3 4a +8 -100 91.0 169.0 |El4
162.0| A2 A4 4a +5 -100 91.0 169.0 |Q16
162.0| J2 J4 4e ¢5 100 91.0 169.0 |G17
162.0| L2 L9 4e v2 -100 91.0 169.0|D18
162.0| O3 015 4a #2 -100 91.0 169.0 |Q19
162.0| P3 P5 44 42 -100 91.0 169.0 |Q22
162.0| Q3 Q15 4a 3  -100 91.0 169.0 |B70
162.0| T3 'T6 4a #2 -100 91.0 169.0 |B75
162.0| E4 E7 4e +8 100 91.0 169.0 | B77
162.0| F4 F7 3¢ &2 -100 91.0 169.0| I1
162.0| H4 H7 4a v7 -100 91.0 169.0| R1
162.0| C5 C8 4a v4  -100 91.0 169.0| T1
162.0| L5 L1 3e #2 100 91.0 169.0| J2
162.0| N5 N10 4e +2 -100 91.0 169.0| S9
162.0| B6 B79 44 v6 -100 91.0 169.0| U1
162.0| J7 Ji14 4e ¢5 -100 91.0 169.0| T2
162.0| O7 024 4a +8 -100 91.0 169.0| F4
162.0| R7 R4 44 ¢5 -100 91.0 169.0| RS
162.0| F8 F1 4a &A  -100 91.0 169.0| K7
162.0| 18 112 4a «3  -100 91.0 169.0| O7
1620| 19 12 4a +8 -100 91.0 169.0| N8
162.0| K9 K4 4a #3  -100 91.0 169.0| N9
162.0| N9 N6 4a +5 -100 91.0 169.0| Q9
162.0| S9 S4 2 47 -100 91.0 169.0 | B11
162.0| 110 16 4a «4 -100 91.0 169.0 |D13
162.0 | K10 K2 2¢ «2 -100 91.0 169.0 |O18
162.0 [S10 S2 4e 42 -100 91.0 169.0| D4
162.0 | L11 L12 2¢ v6 -100 91.0 169.0| B2
162.0 [M11 M3 4a #3  -100 91.0 169.0| G2
162.0 [G12 G7 44 ¢5 100 91.0 169.0| E4
162.0 |012 022 3e 42 -100 91.0 169.0| U6
162.0 | B13 B72 4a v6 -100 91.0 169.0| F9

&2 620 225.0 350| Al
+8 620 225.0 35.0( C1
&3 620 225.0 350]| O1
&2 620 225.0 35.0| A2
v4 620 225.0 350 L2
+8 620 225.0 35.0| O2
+8 620 2250 350 F3
v6 620 225.0 35.0| P4
&J 620 225.0 35.0| K5
&2 620 225.0 35.0| M5
&2 620 225.0 35.0( N5
+8 620 225.0 35.0]| S5
&4 620 225.0 35.0| B6
v4 620 225.0 35.0| E6
+8 620 225.0 35.0| M6
v6 620 2250 35.0( S7
*A 620 225.0 35.0( T7
&2 620 225.0 35.0| Q8
620 225.0 35.0| C9
vQ 620 225.0 35.0| D9
&2 620 225.0 35.0| G9
v4 620 225.0 35.0 19
&2 620 225.0 35.0(D10
&2 620 225.0 35.0|F10
+8 620 225.0 35.0 | K10
3 500 195.0 65.0|Q10
500 195.0 65.0 [ S10
«3 300 192.0 68.0 [ B13
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016 O3 3NN+3 48 690 98.0 162.0|J13 J8 24 N-1 #2 -100 91.0 169.0(019 O5 3v N+1 «3 170 65.0 195.0
018 O4 3NN+3 43 690 98.0 162.0 {014 08 44 N-1 #2 -100 91.0 169.0(B73 B12 3v S+1 42 170 65.0 195.0
Q18 Q10 3NN+3 43 690 98.0 162.0|Q16 Q26 44 N-1 6 -100 91.0 169.0|B80 B3 3v S+1 #Q 170 65.0 195.0
B70 B13 3NN+3 46 690 98.0 162.0 |G17 G11 44 N-1 #J -100 91.0 169.0(J15 J6 2NS+1 &K 150 55.0 205.0
B72 B11 3NN+3 &9 690 98.0 162.0 {018 O10 44 N-1 #2 -100 91.0 169.0(G16 G8 INN+2 &J 150 55.0 205.0
B74 B9 3NN+3 43 690 98.0 162.0|019 05 2v S-1 &7 -100 91.0 169.0| S1 S3 3v S= 42 140 51.0 209.0
B75 B8 3NN+3 48 690 98.0 162.0 |Q23 Q21 44 N-1 8 -100 91.0 169.0(B76 B9 3v N= «J 140 51.0 209.0
B80 B2 3NN+3 43 690 98.0 162.0|B76 B9 2¢ N-1 v6 -100 91.0 169.0f C7 C6 INN+1 &J 120 44.0 216.0
N8 N7 4v S+2 «J 680 450 2150 K7 K6 3#0= 5 -110 45.0 2150| O9 O16 2NN= «J 120 44.0 216.0
012 023 4y N+2 4K 680 45.0 2150| H9 H2 3#0= 43 -110 45.0 215.0|M11 M3 2NN= &J 120 44.0 216.0
D1 D15 3NN+2 4K 660 36.0 224.0| R5 R6 440= &5 -130 420 218.0(L14 L10 2NN= «J 120 44.0 216.0
D6 D20 3NN+2 &K 660 36.0 224.0| U7 U2 2NV+1 9 -150 40.0 220.0|B78 B7 INN+1 «J 120 44.0 216.0
N9 N6 3NN+2 4K 660 36.0 224.0| 11 17 44 N-2 &3 -200 250 235.0( O3 O15 34 O-1 ¥5 100 38.0 222.0
Q9 Q16 3NN+2 «4Q 660 36.0 224.0| Q1 Q25 44DN-1 ¢8 -200 250 235.0( N1 N3 4v S-1 «Q -50 22.0 238.0
F10 F6 3NN+2 48 660 36.0 224.0| B2 B4 54DN-1 #2 -200 25.0 2350 Q1 Q25 3NN-1 4J -50 22.0 238.0
G10 G17 3NN+2 43 660 36.0 224.0| D4 D19 44 N-2 &K -200 250 235.0( 13 111 6v S-1 2 -50 22.0 238.0
017 09 3NN+2 48 660 36.0 224.0| E5 E1 44DN-1 #2 -200 250 235.0( Q3 Q15 4v S-1 &T -50 22.0 238.0
011 021 5¢ N+2 ¥4 640 26.0 2340| I5 14 44aDN-1 «8 -200 25.0 235.0| G4 G15 4v N-1 -50 22.0 238.0
G16 G7 5¢ S+2 4J 640 26.0 234.0| E6 E8 44 N-2 5 -200 250 235.0( H4 H7 4v N-1 a2 -50 22.0 238.0
B76 B7 5¢ S+2 4J 640 26.0 234.0| P6 Pl 54DN-1 «K -200 250 235.0( B5 Bl 4vS-1 «Q -50 22.0 238.0
A7 A8 3NN+1 v4 630 20.0 2400 F9 F2 34 N-2 5 -200 25.0235.0| L5 L1 4vS-1 a2 -50 22.0 238.0
010 019 3NN+1 43 630 20.0 240.0 |H10 H6 2v S-2 &7 -200 250 235.0( A7 A8 4v N-1 &) -50 22.0 238.0
M13 M12 3NN+1 43 630 20.0 240.0 [N12 N2 44 N-2 #3 -200 25.0 235.0( 18 112 2NN-1 4] -50 22.0 238.0
M4 M14 3NN= &K 600 16.0 2440 [E13 E3 44DN-1 v6 -200 250 2350 H9 H2 4v N-1 &2 -50 22.0 238.0
E13 E2 INN+5 43 240 14.0 246.0 (M13 M12 44 N-2 #2 -200 250 235.0(L11 L12 5v S-1 a2 -50 22.0 238.0
F8 F1 3¢ S+3 49 170 12.0 248.0( L14 L10 44 N-2 #2 -200 25.0 2350(N12 N2 4v S-1 #J -50 22.0 238.0
Gl G12 3NN-1 &7  -100 6.0 2540 Q5 Q20 44 N-3 #4 -300 10.0 250.0 (014 O8 4y N-1 45 -50 22.0 238.0
Tl T5 3NN-1 «3 -100 6.0 2540 M4 M14 3NV +1 ¢A  -430 7.0 253.0 (017 O4 4v S-1 a2 -50 22.0 238.0
02 014 3NN-1 «8 -100 6.0 2540 G6 G18 3NV+1 vJ  -430 7.0 2530 L13 L3 4¢ S-2 «Q -100 5.0 255.0
E4 E12 3NN-1 «3 -100 6.0 2540 A7 A8 34DN-2 v4  -500 3.0 257.0 (M13 M12 4v S-2 42  -100 5.0 255.0
Q24 Q22 3NN-1 43 -100 6.0 254.0 (Q19 Q11 34DN-2 v6  -500 3.0 257.0(G12 G7 24 O= «9 -110 1.0 259.0
I8 112 6NN-3 &K -300 0.0 260.0 Q9 Q14 4¢DN-3 3  -800 0.0 260.0 (G14 G10 24 O= v9 -110 1.0 259.0
- M7 118.6 - M7 118.6 - M7 118.6
A3 - 143.0 A3 - 143.0 A3 - 143.0
H3 - 140.5 H3 - 140.5 H3 - 140.5
L3 - 133.7 - U8 126.5 - U8 126.5
us - 116. - L8 130.8 - L8 130.8
- R2 123.7 - R2 123.7 - R2 123.7
- Jio 127.4 - J12 147.4 - J12 147.4
- C2 132.0 - C2 132.0 - C2 132.0
E10 - 111.8 - E12 149.4 - E12 149.4
- G2 102.0 - G3 110.3 - G3 110.3
B69 - 96.9 B71 - 119.7 B71 - 119.7
7 #1093 Basta kontrakt 8 « ED1084 Basta kontrakt 9 « D53 Basta kontrakt
Syd v D87 24 V =-110 Vast v Kn76 4v N =420 Nord v10 3v N =140
Alla + K8 Ingen * K ov ¢ Kn532
#Kn9743 & ¢ v o NT #Kn854 & ¢ v & NT #E9642 & ¢ v & NT
a72 « EKn854 N6 6556 975 & Kn632 N 107 109 9 10762 4E984 N 9 109 6 8
vE10965 v42 S6 6556 vED2 v K83 S 107 109 9 vE42  vK863 S 9 108 6 8
¢ 643 ¢ E107 075886 ¢ Kn10643 ¢ D85 026334 + 864 ¢ K9 033475
#E106 #KD2 V75886 93 *K72 V26334 #1087 &K53 V33464
« KD6 oK & KKn
v KKn3 v 10954 v DKn975
¢ DKn952 ¢ E972 ¢ ED107
85 #ED106 #DKn
Par Kontr ut Res Poéng Par Kontr ut Res Poéng Par Kontr ut Res Poéng
C8 C7 3NO-3 ¢5 300 2600 00| F1 F2 54S+2 &5 440 2600 00| F9 F3 1#DO-3 v5 800 2590 1.0
Q1 Q24 2NO-2 5 200 2540 60| S2 S4 3NS+1 3 430 2540 6.0|Gll1 G7 1«4DO-3 #Q 800 259.0 1.0
Q4 Q16 44 O-2 #8 200 2540 6.0 111 14 3NN+1 ¥¢3 430 2540 6.0| P4 P3 INDO-2 vQ 500 2550 5.0
07 023 2NO-2 42 200 2540 6.0(015 09 3NS+1 v2 430 2540 6.0| 110 17 3¥yxDO-2 ¢A 500 2550 5.0
110 17 2NO-2 ¢2 200 2540 6.0({Q19 Q5 3NS+1 ¢J 430 2540 60 C1 C5 3NN= 44 400 250.0 100
Q22 Q20 3NO-2 ¢5 200 2540 6.0|Q23 Q7 3NS+1 3 430 2540 6.0| J2 J8 3NS= v2 400 250.0 10.0
03 014 INN+1 4 120 2420 180| Ul U3 4v S= #9 420 247.0 13.0| N6 N11 3NS= v2 400 250.0 10.0
A4 A7 INN+1 44 120 2420 18.0| A4 A7 4vS= &9 420 2470 130| Bl B9 INN+4 48 210 2440 16.0
T4 T7 INS+1 v5 120 2420 180| Q1 Q24 3NN= v3 400 230.0 30.0 B8 B2 2NN+3 8 210 2440 16.0
U6 U5 INN+1 8 120 2420 180 R1 R5 3NN= 5 400 230.0 30.0({G17 Gl INS+4 vA 210 2440 16.0
19 13 INN+1 &5 120 2420 180| C2 C4 3NS= ¢3 400 2300 300 N2 N4 1vO-2 «J 200 2340 26.0
G10 G6 2NN= 45 120 2420 18.0| L3 L10 3NS= 3 400 2300 30.0( O3 013 1vO-2 «Q 200 234.0 26.0
N10 N7 2NN= &5 120 2420 180| T4 T7 3NN= 5 400 2300 300 O5 017 1vO-2 «Q 200 2340 26.0
C2 C4 240-1 +Q 100 2200 400 M6 M9 5#S= T 400 2300 300 E7 E3 1lvO-2 #Q 200 2340 26.0
H4 H6 2vV-1 K 100 2200 400 R6 R7 3NS= ¢J 400 230.0 30.0] N9 N8 1vO-2 #Q 200 2340 26.0
F5 F8 2NO-1 +¢2 100 220.0 400 S6 S9 3NS= ¢J 400 230.0 30.0({N12 N3 1v O-2 #Q 200 2340 26.0
L5 L8 24 O-1 &8 100 220.0 40.0| O7 023 3NN= 46 400 230.0 30.0{020 O12 1v O-2 «Q 200 2340 26.0
E6 E2 3vV-1 ¢K 100 2200 40.0| S8 S7 3NN= v2 400 2300 30.0| J4 J6 2NN+2 4 180 220.0 40.0
Q6 Q21 2¢vV-1 K 100 2200 400(K10O K3 3NS= 3 400 2300 30.0| D6 D19 INN+3 ¢3 180 220.0 40.0
D7 D17 2« O-1 8 100 220.0 40.0 Q10 Q15 3NS= ¢3 400 230.0 30.0| K6 K9 2NN+2 42 180 220.0 40.0
G7 G18 3NO-1 «8 100 220.0 40.0|Q11 Q18 3NS= #3 400 230.0 30.0| U8 U5 2NN+2 48 180 220.0 40.0
D8 D20 2v V-1 ¢K 100 2200 40.0|Gl6 G9 3NS= 6 400 2300 30.0(D14 D10 INS+3 v2 180 220.0 40.0
K10 K3 24 O-1 +Q 100 220.0 40.0|B76 B1l1 3NS= ¢6 400 230.0 30.0|D15 D4 2NN+2 4 180 220.0 40.0
012 021 24 O-1 #8 100 2200 40.0| 16 I5 2NS+2 ¢J 180 211.0 49.0|J15 J10 INS+3 42 180 220.0 40.0
L14 L11 2NO-1 2 100 2200 40.0| K6 K9 2NN+2 ¢8 180 211.0 49.0| L1 L2 1lvS+3 «T 170 208.0 52.0
019 O11 24 O-1 8 100 220.0 40.0|D14 D9 2NS+2 49 180 211.0 49.0| N5 N1 1v S+3 T 170 208.0 52.0
B72 B69 34 O-1 ¢Q 100 2200 40.0(L14 L11 2NS+2 J 180 2110 490| S6 S9 1lv S+3 44 170 208.0 52.0
B78 B9 2NV-1 &3 100 2200 40.0(Gl15 G5 3vS+1 vA 170 2060 54.0|D13 D5 3vS+1 T 170 208.0 52.0
M2 M8 INS= &7 90 1970 63.0| Ol 022 3#N+2 43 150 1950 650(D20 D9 2v S+2 4T 170 2080 520
B7 Bl INN= 45 90 1970 63.0] N2 N4 2#S+3 #9 150 1950 650| H1I H2 INS+2 ¥3 150 190.0 70.0
JI0 J13 INS= v6 90 1970 63.0| A3 A5 INS+2 +J 150 1950 650| Rl R5 INS+2 ¢2 150 190.0 70.0
Q11 Q18 INN= &5 90 1970 63.0| M3 M10 3#S+2 ¢J 150 195.0 65.0| 12 18 2NN+1 44 150 190.0 70.0
M12 M11 INN= 45 90 1970 63.0| H4 H6 INS+2 +J 150 1950 650| G4 G3 2NN+1 48 150 190.0 70.0
N12 N3 INN= 5 90 1970 63.0| B7 Bl 3#S+2 9 150 195.0 65.0| F5 F8 INS+2 vA 150 190.0 70.0
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B77 B10 INN-2 &5 -200 10.0 250.0| T3 T5 6#S-2 vA -100 5.0 255.0| 09 O14 1lv O= +A -80 9.0 251.0
F9 F3 3¢ S-3 a7 -300 5.0 255.0| L5 L8 3NS-2 ¢J -100 5.0 255.0 |Q10 Q14 1v O= &#Q -80 9.0 251.0
D13 D4 3¢ S-3 &7 -300 5.0 255.0| M5 M7 44 N-2 +8 -100 5.0 255.0| Q7 Q22 3NN-2 &4 -100 3.0 257.0
N5 N1 3NV= #4 -600 2.0 258.0| J11 J12 44 S-2 ¢J -100 5.0 255.0| C8 C7 2vS-2 46 -100 3.0 257.0
H10 H7 24DN-3 v4  -800 0.0 260.0| D16 D11 3NS-2 +¢J -100 5.0 255.0| D3 D7 2NN-3 438 -150 0.0 260.0
- M14 139.7 - M14 139.7 - M14 139.7
A2 - 161.8 A2 - 161.8 A2 - 161.8
- U8 126.5 - U8 126.5| U2 - 123.9
- H8 155.7 - H8 155.7 | E4 - 112.7
- L2 141.8 - L2 141.8 - H8 155.7
- RS 97.8 - RS 97.8 - L9 135.1
- C3 134.7 - C3 134.7 - R3 97.8
- G4 1175 - G4 1175 - A 146.5
E14 - 121.3 E14 - 121.3 - C3 134.7
J14 - 138.7 J14 - 138.7 - G5 78.6
- B73 119.1 - B73 119.1 | B75 - 134.7
10 « DKn1042 Basta kontrakt 11 4 K43 Basta kontrakt 12 » Kn1065 Basta kontrakt
Ost vE10 44 S =620 Syd v KKn10 3¢ S =110 Vast v K32 44 V =-420
Alla + K9 Ingen + KD1083 NS * K842
*EK84 & ¢ v & NT #Kn5 & ¢ v & NT #Knl0 & ¢ v & NT
496 «E5 N9 6 6 107 « Kn8 « E92 N595 86 D43 » EK98 N7 3433
vD5 vKKng8432 S 9 6 6 107 vE864 v753 S59586 v 109865 vDKn S7 3433
¢+ DKn8762 ¢ 43 0376 33 ¢EKn4  +97 0847 47 ¢ E65 ¢ DKn73 06 9 9 109
#D96 #Kn75 V37633 #D1096 #K7432 V847 47 K8 &E94 V69 9 109
4 K873 4 D10765 a72
v 976 v D92 vE74
+ E105 4652 + 109
#1032 »E8 #D76532
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
M2 M7 44 N+1 3 650 2580 20|D18 D3 2NO-4 6 200 2600 00| JI Jil1 3NV-4 &J 200 2570 3.0
M3 M9 44 N+1 #5 650 2580 2.0|S10 S4 34 S+1 ¢A 170 2580 20| O1 O20 3NO-4 &3 200 2570 3.0
J4 J6 44 N+1 ¢4 650 2580 20| M6 M8 5&#V-3 &K 150 2540 6.0({D10 D20 3NO-4 #3 200 257.0 3.0
L1 L2 44 N= ¢4 620 1940 660 P6 P3 3vV-3 K 150 2540 6.0|Q19 Q17 3NO-4 &5 200 2570 3.0
Ol 021 44 N= ¢4 620 1940 66.0 (022 02 INN+2 #2 150 2540 6.0| J4 J8 3NO-3 &5 150 248.0 12.0
P1L P5 44 N= ¥3 620 1940 66.0( E1 E14 34 S= #9 140 227.0 33.0| E5 E12 3NO-3 &3 150 248.0 12.0
Tl T2 44 N= &A 620 1940 66.0( J1 J11 34 S= &T 140 2270 33.0| Q8 Q23 3NO-3 &5 150 248.0 12.0
Ul U6 44 S= vQ 620 1940 66.0( L1 L14 24 S+1 A 140 2270 33.0|D13 D6 3NO-3 &3 150 248.0 12.0
C2 C6 44 N= ¢4 620 1940 66.0( A3 A7 14 S+2 #9 140 227.0 33.0|M14 M5 3NO-3 &5 150 248.0 12.0
D2 D18 44 N= ¢4 620 1940 66.0| C3 C5 24 S+1 #Q 140 227.0 33.0| Bl B11 3NO-2 #6 100 223.0 37.0
J2 J8 44 S= vQ 620 1940 66.0( G3 G10 34 S= vA 140 2270 33.0| L1 L14 3NO-2 &3 100 223.0 37.0
Q2 Q25 44 S= vQ 620 1940 66.0f N3 N5 34 S= #6 140 2270 330| F2 F3 3NO-2 &7 100 223.0 37.0
S2 S6 44 N= ¢4 620 1940 66.0| T4 T6 34 S= #8 140 227.0 33.0| M2 M7 44 O-2 +T 100 223.0 37.0
C3 C5 44 N= ¢4 620 1940 66.0( Q5 Q16 24 S+1 #T 140 227.0 33.0| P2 P1 3NO-2 &5 100 223.0 37.0
J3 J7 44 N= ¢4 620 1940 660 T5 T8 34 S= vA 140 2270 330| 13 11 3NO-2 &5 100 223.0 37.0
N3 N5 44 S= vQ 620 1940 660 F6 F1 24 N+1 A 140 2270 330| T4 T6 3NO-2 &5 100 223.0 37.0
03 013 44 N= ¢4 620 1940 660 S7 S1 24 S+1 #9 140 227.0 33.0| N6 N2 3NO-2 &5 100 223.0 37.0
R3 R5 44 N= ¢3 620 1940 66.0( U7 U3 24 S+1 #9 140 227.0 33.0| K7 K1 3NO-2 &2 100 223.0 37.0
S3 S5 44 N= ¢4 620 1940 660( L8 L4 34S= #8 140 2270 33.0| E8 E4 3NO-2 &3 100 223.0 37.0
L4 L11 44 S= ¢Q 620 1940 660 C9 C8 14 S+2 #6 140 2270 330| 19 14 3NO-2 &7 100 223.0 37.0
Q4 Q15 44 N= ¢4 620 1940 66.0 (D10 D20 24 S+1 #9 140 227.0 33.0|M11 M10 3NO-2 &7 100 223.0 37.0
T4 T6 44 N= v2 620 1940 66.0| 110 18 24 S+1 #6 140 227.0 33.0|D12 D2 44 O-2 T 100 223.0 37.0
05 017 44 N= ¢3 620 1940 66.0(J10 J2 24 S+1 #4 140 227.0 33.0|J12 J15 3NO-2 &5 100 223.0 37.0
T5 T8 44 N= ¢4 620 1940 66.0( 111 I5 24 S+1 #9 140 227.0 33.0|M12 M4 3NO-2 &2 100 223.0 37.0
D6 D19 44 N= v2 620 1940 66.0(Q13 Q10 24 S+1 vA 140 227.0 33.0|J13 J14 3NO-2 #4 100 223.0 37.0
H6 H1 44 N= ¢4 620 1940 66.0 (D14 D11 34 S= #6 140 227.0 33.0|D14 D11 3NO-2 «3 100 223.0 37.0
P6 P2 44 N= ¥3 620 1940 66.0(G16 G11 24 S+1 #T 140 227.0 33.0|Gl5 G7 3NO-2 &2 100 223.0 37.0
B7 B3 44 S= vQ 620 1940 66.0(D17 D9 34 S= #6 140 2270 33.0|D18 D3 3NO-2 &5 100 223.0 37.0
17 16 44 N= ¢4 620 1940 66.0(B79 B12 24 S+1 A 140 227.0 33.0|021 O7 3NO-2 &3 100 223.0 37.0
K7 K1 44 N= v9 620 1940 66.0( E2 E3 3¢ N+1 3 130 201.0 59.0| E1 E14 44 O-1 &6 50 186.0 74.0
L7 L3 44 N= ¢4 620 1940 660 F9 F4 2¢ N+2 2 130 201.0 59.0| A3 A7 4v V-1 &J 50 186.0 74.0
07 022 44 N= ¢4 620 1940 66.0(M12 M4 INN+1 &4 120 198.0 620 K3 K5 3NO-1 &2 50 186.0 74.0
Q7 Q22 44 N= ¢3 620 1940 66.0( Bl B1l 2¢ N+1 #2 110 165.0 95.0( Q3 Q12 3NO-1 &7 50 186.0 74.0
U7 U3 44 N= ¢4 620 194.0 66.0| O1 020 2¢ N+1 ¢3 110 165.0 950 B5 B7 3NO-1 &3 50 186.0 74.0
U8 U5 44 S= vQ 620 1940 66.0( B2 B10 2¢ N+1 #3 110 165.0 95.0( L5 L12 3NO-1 &3 50 186.0 74.0
F9 F4 44 N= ¢4 620 1940 66.0( K2 K6 3¢ N= #2 110 165.0 95.0( Q5 Q16 3NO-1 &6 50 186.0 74.0
19 14 44 N= ¢4 620 1940 66.0| P2 Pl 3¢ N= «K 110 165.0 950 F6 F1 2NO-1 &5 50 186.0 74.0
S9 S8 44 N= v5 620 1940 66.0( K3 K5 2¢ N+1 &2 110 165.0 950 R7 R1 3NO-1 T 50 186.0 74.0
110 18 44 N= ¢4 620 1940 66.0( M3 M9 14 S+1 #9 110 165.0 95.0( L8 L4 3NO-1 &2 50 186.0 74.0
N10 N9 44 N= &5 620 1940 66.0| Q3 Q12 24 S= vA 110 165.0 95.0( C9 C8 2NV-1 &5 50 186.0 74.0
Q10 Q14 44 N= v4 620 1940 66.0( S3 S5 3¢ N= &2 110 165.0 950 K9 K8 3NO-1 &2 50 186.0 74.0
S10 S4 44 S= v4 620 1940 66.0( J4 J8 2¢ N+1 +7 110 165.0 95.0( 110 I8 3NO-1 &3 50 186.0 74.0
111 15 44 S= vQ 620 1940 66.0( O5 O16 3¢ N= #3 110 165.0 95.0(N11 N8 3NO-1 &5 50 186.0 74.0
M11 M10 44 N= vQ 620 1940 66.0( P5 P4 2¢ N+1 &6 110 165.0 95.0(N12 N4 3NO-1 &6 50 186.0 74.0
N1l N8 44 N= ¢4 620 1940 66.0 N6 N2 14 S+1 #9 110 165.0 95.0 (017 O11 3NO-1 &2 50 186.0 74.0
Q11 Q16 44 S= vQ 620 1940 66.0( O6 O18 24 S= +A 110 165.0 95.0(B78 B13 3NO-1 &3 50 186.0 74.0
E12 E14 44 N= v8 620 1940 66.0( E7 E10 14 S+1 &9 110 165.0 950 P6 P3 24 O= &6 -110 168.0 92.0
J12 J13 44 N= &A 620 1940 66.0( K7 K1 3¢ N= &K 110 165.0 95.0(Q13 Q10 2NV = 45 -120 165.0 95.0
L12 L14 44 N= v2 620 1940 660 R7 R1 2¢ N+1 «A 110 165.0 95.0(D17 D9 2NO= &2 -120 165.0 95.0
N12 N4 44 S= vQ 620 1940 66.0( H9 H4 3¢ N= &2 110 165.0 95.0| O4 O14 2v O+1 T -140 158.0 102.0
B13 B76 44 N= ¢4 620 1940 66.0( K9 K8 3¢ N= #2 110 165.0 95.0| 111 15 3» O= T -140 158.0 102.0
D13 D5 44 N= ¥8 620 1940 66.0(F10 F8 3¢ N= &2 110 165.0 95.0| 112 12 2» O+1 T -140 158.0 102.0
E13 E5 44 N= ¢4 620 1940 66.0(Q11 Q15 3¢ N= 7 110 165.0 95.0(G16 G11 24 O+1 T  -140 158.0 102.
L13 L5 44 N= ¢3 620 1940 66.0 (N12 N4 3¢ N= #2 110 165.0 95.0|D19 D7 2v O+1 a7 -140 158.0 102.0
D14 D10 44 S= vQ 620 1940 66.0(D13 D6 3¢ N= &7 110 165.0 95.0| L2 L3 2NO+1 42 -150 149.0 111.0
M14 M5 44 S= vQ 620 1940 66.0(J13 J14 24 S= A 110 165.0 95.0| G3 G10 2NO+1 &5 -150 149.0 111.0
D15 D4 44 N= v8 620 1940 66.0(G15 G7 24 S= ¢5 110 165.0 95.0( L9 L11 2NO+1 &5 -150 149.0 111.0
016 O10 44 S= vQ 620 1940 66.0(G18 G9 24 S= v6 110 165.0 95.0|G1l4 G1 2NO+1 &7 -150 149.0 111.0
G18 G8 44 N= &5 620 1940 66.0(D19 D7 24 S= v6 110 165.0 95.0| N1 N7 2v O+2 a7 -170 139.0 121.0
020 012 44 N= 43 620 1940 66.0(Q24 Q2 24 S= &9 110 165.0 95.0| C3 C5 3vO+1 T -170 139.0 121.0
Q20 Q6 44 N= ¢4 620 1940 66.0(Q25 Q9 2¢ N+1 +7 110 165.0 95.0( O6 018 2v O+2 &3 -170 139.0 121.0
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13 4 E10 Basta kontrakt 14 & Kn8432 Basta kontrakt 15 4653 Basta kontrakt
Nord v 986 64 O =-1430 Ost v 5432 2 S =90 Syd v 1065 5v O D -2 300
Alla 41096543 Ingen 2 NS + 10762
#65 & ¢ v & NT #KKn3 & ¢ v & NT #EKn5 & ¢ v &N
& Kn9 « KD7642 N16112 46 « KD1097 N87 776 a2 « D87 N6 6 4 109
vEKDKn2 v10 S16112 vKDKn6 1098 S87 776 vDKn832 vE97 S 6 6 4 109
+ K87 ¢- O 127 121211 + KD8 ¢ Kn765 046657 + K3 ¢ ED954 077934
*E74 #KDKn1092 V 127 121211 #D10984 &5 V466057 #D9642 487 V77834
# 853 +E5 & EKKNn1094
v 7543 vE7 vK4
¢ EDKn2 + E10943 + Kn8
»83 *E762 #K103
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J13 J1 7/NDV-2 «A 500 259.0 1.0|G18 G10 3vyDV-3 ¢2 500 2600 0.0|L11 L1 24DS= ¢K 670 2590 1.0
E14 E2 7NDV-2 4A 500 259.0 1.0|B75 B72 24DS= ¢K 470 2580 2.0|B70 B79 24DS= ¢K 670 2590 1.0
G6 G5 4v V-2 &5 200 2540 6.0(022 O8 4v V-5 2 250 2560 4.0|B72 B77 3NV-5 46 250 256.0 4.0
112 13 7NV-2 A 200 2540 6.0| Q2 Q23 3¢ O-4 vA 200 246.0 14.0|021 O8 1sa S+4 vQ 200 2520 8.0
Ji6 J7 7#DO-1 ¢A 200 2540 6.0| U2 Ul 34 0-4 vA 200 246.0 14.0|B76 B73 5v V-4 5 200 2520 8.0
R3 R7 6NV-1 #4A 100 2450 150| G6 G5 4v V-4 2 200 246.0 14.0|B78 B71 3NO-4 «A 200 2520 8.0
G4 G11 6NV-1 #A 100 2450 150( P6 P3 240-4 +2 200 246.0 14.0| H1 H10 24 S+2 ¢K 170 239.0 21.0
U6 U8 6NV-1 «4A 100 2450 15.0| K8 K2 2&4V-4 ¢2 200 2460 140( P2 Pl 14 S+3 2 170 239.0 21.0
Q9 Q24 6NV-1 #A 100 2450 150(B10 B4 3#V-4 2 200 246.0 140| Q2 Q21 24 S+2 ¢K 170 239.0 21.0
D15 D6 6NV-1 T 100 2450 150(N12 N5 2#V-4 ¢2 200 246.0 14.0| B3 B13 34 S+1 ¢K 170 239.0 21.0
B77 B70 7# O-1 ¢A 100 245.0 15.0|Q12 Q10 3+« V-4 5 200 246.0 14.0| O6 O16 34 S+1 ¢K 170 239.0 21.0
FO9 F5 2NV +3 ¢4 -210 2380 220(M13 M5 2&#V-4 ¢A 200 2460 140| Q6 Q16 34 S+1 »J 170 2390 210
U3 U5 5#0+1 ¢A -620 2320 28.0| Bl B13 3vV-3 ¢2 150 2240 36.0( U6 U8 34 S+1 K 170 239.0 21.0
N4 N6 5# O+1 &8 -620 2320 28.0| KI K9 2#V-3 ¢2 150 2240 360( 9 I5 34S+1 ¢8 170 239.0 21.0
S4 S6 540+1 ¢A -620 232.0 280| S1 S9 2#V-3 2 150 2240 36.0| 111 16 34 S+1 ¢K 170 239.0 21.0
P5 P4 540+1 ¢J -620 232.0 28.0| M2 M14 3#V-3 ¢2 150 2240 36.0(J14 J2 34 S+1 K 170 239.0 21.0
M13 M5 5#O0+1 ¢A -620 2320 280| C3 C7 3vV-3 +2 150 2240 36.0| B4 B12 5v O-3 «A 150 2240 36.0
T6 T1 3NV+l1 T -630 226.0 340| N4 N6 3NV-3 42 150 2240 360| R4 R6 3¢ O-3 &K 150 224.0 36.0
D1 D3 44 O+1 8 -650 218.0 42.0| Q5 Q15 3v V-3 ¢2 150 2240 36.0( E9 E12 3¢ O-3 A 150 224.0 36.0
L3 L4 4vV+1l T -650 2180 42.0| H6 H8 24 O-3 &2 150 2240 36.0(M13 M5 4v V-3 46 150 224.0 36.0
J4 J10 4v V+1 9 -650 218.0 42.0| H7 H2 2v V-3 ¢2 150 2240 36.0(Q13 Q11 4v V-3 &5 150 224.0 36.0
H7 H2 54 O= 48 -650 218.0 42.0| D8 D19 24 O-3 ¢A 150 2240 36.0( I1 110 24 S+1 K 140 177.0 83.0
E13 E7 5vV= ¢4 -650 218.0 420| L8 L11 2#V-3 2 150 2240 36.0| KI K9 24 S+1 ¢K 140 177.0 83.0
Gl7 G3 5vV= ¢T -650 218.0 42.0|010 O1l4 2&V-3 ¢2 150 224.0 36.0] N1 N9 24 S+1 ¢K 140 177.0 83.0
018 012 44 O+1 ¢2 -650 218.0 42.0|B71 B76 3¢ O-3 vA 150 2240 360 R1 R2 24 S+1 K 140 177.0 83.0
M10 M9 5NV= ¢5 -660 209.0 51.0( N1 N9 3#S= ¢K 110 201.0 59.0| U2 Ul 34 S= ¢K 140 177.0 83.0
Gl4 G2 3NV+2 +¢6 -660 209.0 51.0| A2 A3 24S+1 vK 110 201.0 590 F3 F4 34 S= ¢3 140 177.0 83.0
Bl B13 54 V+1 ¢A -680 159.0 101.0( A5 A7 24 N= &5 110 201.0 59.0| M3 M8 24 S+1 3 140 177.0 83.0
Cl C9 54 O+1 3 -680 159.0 101.0| B6 B8 24 N= T 110 201.0 59.0( L4 L5 24 S+1 ¢K 140 177.0 83.0
Gl G9 44 O+2 ¢A -680 159.0 101.0( U6 U8 24 N= &5 110 201.0 59.0| M4 M11 24 S+1 ¢K 140 177.0 83.0
H1 H10 4v V+2 ¢A -680 159.0 101.0( 112 I3 24 S= ¢K 110 201.0 59.0| A5 A7 1la S+2 ¢K 140 177.0 83.0
K1 K9 54 O+1 ¢A -680 159.0 101.0|D14 D12 24 N= &5 110 201.0 59.0| J5 Ji11 24 S+1 +K 140 177.0 83.0
N1 N9 54 O+1 &8 -680 159.0 101.0|D15 D6 24 S= ¢K 110 201.0 59.0| O5 O14 24 S+1 ¢K 140 177.0 83.0
Ol 019 44 O+2 8 -680 159.0 101.0|G17 G3 24 N= &5 110 201.0 59.0( T5 T7 24 S+1 +Q 140 177.0 83.0
Ql Q20 5v V+1 ¢5 -680 159.0 101.0 ({023 O3 24 N= &5 110 201.0 59.0| F6 F8 24 S+1 ¢3 140 177.0 83.0
R1 R2 4vV+2 #4A -680 159.0 101.0| G1 G9 2NV-2 +2 100 167.0 93.0( H6 H8 24 S+1 K 140 177.0 83.0
S1 S9 44 O+2 48 -680 159.0 101.0| H1 H10 2NV-2 ¢2 100 167.0 93.0( J6 J10 34 S= K 140 177.0 83.0
A2 A3 54 O+1 ¢A -680 159.0 101.0| 1 110 2v V-2 +2 100 167.0 93.0( P6 P3 24 S+1 ¢K 140 177.0 83.0
M2 M14 54 O+1 8 -680 159.0 101.0| O2 021 2v V-2 +¢2 100 167.0 93.0|( T6 T1 24 S+1 K 140 177.0 83.0
02 021 5vV+1 T -680 159.0 101.0( P2 P1 3v V-2 42 100 167.0 93.0( B7 B9 34 S= +vQ 140 177.0 83.0
E3 E4 54 O+1 ¢A -680 159.0 101.0| B3 B11l 2NV-2 ¢3 100 167.0 93.0( E7 E2 34 S= +¢K 140 177.0 83.0
H3 H4 54 O+1 &8 -680 159.0 101.0| F3 F4 2NV-2 #3 100 167.0 93.0| H7 H2 34 S= #4 140 177.0 83.0
A4 A8 44 O+2 &8 -680 159.0 101.0| K3 K7 2&#V-2 42 100 167.0 93.0( O7 O19 24 S+1 +K 140 177.0 83.0
C4 C6 44 O+2 #3 -680 159.0 101.0| J4 J10 24D O-1 ¢A 100 167.0 93.0( C8 C2 24 S+1 +K 140 177.0 83.0
T4 T8 54 O+1 ¢A -680 159.0 101.0( M4 M11 2NV-2 v5 100 167.0 93.0( I8 I7 14 S+2 v2 140 177.0 83.0
A5 A7 44 O+2 &8 -680 159.0 101.0| Q4 Q13 2v V-2 ¢2 100 167.0 93.0( K8 K2 24 S+1 ¢K 140 177.0 83.0
D5 D9 5¢vV+l1 #4A -680 159.0 101.0( D5 D9 2NV-2 44 100 167.0 93.0( N8 N2 34 S= ¢K 140 177.0 83.0
Q5 Q15 44 O+2 ¢A -680 159.0 101.0( P5 P4 34 O-2 ¢A 100 167.0 93.0( Q8 Q20 24 S+1 K 140 177.0 83.0
F7 F2 54 O+1 ¢Q -680 159.0 101.0| T5 T7 2&#V-2 2 100 167.0 93.0( D9 D19 24 S+1 ¢K 140 177.0 83.0
M7 M6 54 O+1 #4  -680 159.0 101.0( F6 F8 2&V-2 2 100 167.0 93.0( F9 F5 14 S+2 v2 140 177.0 83.0
N7 N3 54 O+1 &5 -680 159.0 101.0| O6 017 2v V-2 +¢2 100 167.0 93.0(S10 S5 24 S+1 K 140 177.0 83.0
Q7 Q19 44 O+2 #8 -680 159.0 101.0| T6 T1 3v V-2 ¢2 100 167.0 93.0(Bl1 B5 24 S+1 K 140 177.0 83.0
D8 D19 44 O+2 &8 -680 159.0 101.0| F7 F2 2NV-2 ¢2 100 167.0 93.0( 112 I3 24 S+1 K 140 177.0 83.0
I8 17 44 O+2 48 -680 159.0 101.0 |M10 M9 2& V-2 42 100 167.0 93.0|N12 N5 34 S= ¢3 140 177.0 83.0
N8 N2 54 O+1 %8 -680 159.0 101.0 | D11 D20 3v V-2 ¢2 100 167.0 93.0(D13 D8 34 S= +¢Q 140 177.0 83.0
S8 S2 54 O+1 ¢A -680 159.0 101.0| 111 16 24 O-2 vA 100 167.0 93.0(E14 E3 24 S+1 +3 140 177.0 83.0
B9 B5 44 O+2 48 -680 159.0 101.0 |O11 O16 2NV-2 42 100 167.0 93.0|D15 D7 34 S= +K 140 177.0 83.0
B10 B4 54 O+1 ¥5 -680 159.0 101.0|E14 E2 2v V-2 +2 100 167.0 93.0(G15 G9 34 S= ¢8 140 177.0 83.0
E10 E12 5v V+1 &6 -680 159.0 101.0|020 O7 3NV-2 42 100 167.0 93.0(D16 D3 34 S= ¢K 140 177.0 83.0
010 O14 54 O+1 ¢A -680 159.0 101.0| C1 C9 2&#S= 46 90 140.0 120.0( J16 J8 24 S+1 v2 140 177.0 83.0
J11 J3 5vV+l1 &4A -680 159.0 101.0| N8 N2 1¢ S+1 46 90 140.0 120.0 (D20 D12 34 S= ¢Q 140 177.0 83.0
N11 N10 44 O+2 2 -680 159.0 101.0|J11 J3 2&#S= v6 90 140.0 120.0 [Q23 Q9 24 S+1 +K 140 177.0 83.0
011 O16 54 O+1 ¢A -680 159.0 101.0| J2 J12 2NV-1 +¢2 50 122.0 138.0 ([Q26 Q22 14 S+2 v2 140 177.0 83.0
N12 N5 54 O+1 v7 -680 159.0 101.0| T2 T3 2¢v V-1 +¢2 50 122.0 1380 F1 F10 24 S= +K 110 122.0 138.0
Q12 Q10 44 O+2 #8 -680 159.0 101.0| M3 M8 2NV-1 +¢2 50 122.0 138.0( O1 O18 24 S= +K 110 122.0 138.0
L13 L7 44 O+2 ¢A -680 159.0 101.0| R3 R7 2NV-1 2 50 122.0 138.0| C3 C7 24 S= +K 110 122.0 138.0
D14 D12 54 O+1 &8 -680 159.0 101.0| S3 S7 2v V-1 +¢2 50 122.0 138.0 N4 N6 24 S= K 110 122.0 138.0
Q14 Q11 4v V+2 %6 -680 159.0 101.0| U3 U5 2NV-1 2 50 122.0 1380 T4 T8 24 S= +K 110 122.0 138.0
G15 G8 44 O+2 a5 -680 159.0 101.0| E9 E5 3v O-1 A 50 122.0 138.0| G5 G12 24 S= +K 110 122.0 138.0
D16 D2 44 O+2 ¢A -680 159.0 101.0( 19 I5 2NV-1 &3 50 122.0 1380 P5 P4 24 S= ¢2 110 122.0 138.0
D18 D4 54 O+1 ¢A -680 159.0 101.0|K10 K5 2NV-1 2 50 122.0 1380 F7 F2 24 S= +K 110 122.0 138.0
G18 G10 54 O+1 48 -680 159.0 101.0|G14 G2 2N V-1 «4 50 122.0 1380 L9 L12 24 S= +2 110 122.0 138.0
Q18 Q16 54 O+1 438 -680 159.0 101.0|D16 D2 2NV-1 3 50 122.0 138.0(J15 J1 24 S= +K 110 122.0 138.0
020 O7 54 O+1 ¢A -680 159.0 101.0|J16 J7 2NV-1 5 50 122.0 138.0 (023 09 24 S= +J 110 122.0 138.0
022 08 44 O+2 ¢A -680 159.0 101.0|Q25 Q3 2NV -1 43 50 122.0 138.0|024 04 24 S= +K 110 122.0 138.0
B3 B1l1 4NV+2 ¢T -690 102.0 158.0 |B77 B70 2NV -1 #3 50 122.0 138.0(B80 B8 24 S= +¢K 110 122.0 138.0
M4 M11 5NV +1 A -690 102.0 158.0|B80 B7 2NV-1 43 50 122.0 138.0| B1 B69 4v V-2 43 100 90.0 170.0
05 015 5NV+1 T -690 102.0 158.0( O1 O19 2v N-1 &5 -50 940 166.0| D1 D14 5v O-2 4A 100 90.0 170.0
F6 F8 3NV+3 6 -690 102.0 158.0| Q1 Q20 34 N-1 &5 50 94.0 166.0| S1 S9 4¢ O-2 «A 100 90.0 170.0




J6 J8 3NV+3 5 -690 102.0 158.0| H3 H4 24 S-1 vK -50 94.0 166.0 | G2 G10 4v V-2 43 100 90.0 170.0
L8 L11 3NV+3 ¢4  -690 102.0 158.0| G4 G11 24 N-1 &5 50 940 1660 T2 T3 4v V-2 43 100 90.0 170.0
L10 L12 3NV+3 ¢4  -690 102.0 158.0| O4 O13 24 S-1 ¢K -50 94.0 166.0( O3 022 3¢ O-2 «A 100 90.0 170.0
J14 J15 3NV+3 T -690 102.0 158.0| B9 B5 24 S-1 ¢K -50 94.0 166.0| R3 R7 4v V-2 46 100 90.0 170.0
023 O3 3NV+3 ¢5 -690 102.0 158.0| F9 F5 3#S-1 46 50 940 1660 U3 U5 3v V-2 46 100 90.0 170.0
S3 S7 6#40= ¢A -1370 88.0 172.0(E10 E12 24 S-1 46 -50 94.0 1660 E4 E5 4v O-2 «A 100 90.0 170.0
04 013 6#40= ¢A -1370 88.0 172.0(J13 J1 24 N-1 &5 50 94.0 166.0( 4 12 3vV-2 42 100 90.0 170.0
H6 H8 64#0= ¢A -1370 88.0 172.0(G15 G8 24 N-1 &5 50 940 1660 K4 K6 5vV-2 46 100 90.0 170.0
06 017 64 0= ¢A -1370 88.0 172.0(G16 G12 2¢ S-1 ¢K 50 94.0 166.0( Q5 Q14 3¢ O-2 &K 100 90.0 170.0
B69 B78 64 O= ¢A -1370 88.0 172.0|D17 D10 INS-1 ¢K -50 94.0 166.0 Q7 Q18 4v O-2 &K 100 90.0 170.0
F1 F10 64 O= ¢A -1430 62.0 198.0(B69 B78 24 N-1 T -50 940 1660 E1I0 E6 3v V-2 46 100 90.0 170.0
11 110 64 O= ¢A -1430 62.0 198.0| A4 A8 INV= 43 -90 77.0 183.0 (M10 M9 3¢ O-2 A 100 90.0 170.0
J2 J12 64 O= ¢A -1430 62.0 198.0| C4 C6 INV= 43 -90 77.0 183.0 (011 O15 3¢ O-2 «A 100 90.0 170.0
P2 Pl 6vV= &A -1430 62.0 198.0| D7 D13 INO= 43 90 77.0 183.0(L13 L8 3v V-2 46 100 90.0 170.0
Q2 Q23 64 O= ¢A -1430 62.0 1980 C8 C2 240= +A 90 77.0 183.0(G14 G3 3v V-2 &6 100 90.0 170.0
T2 T3 6vyV= ¢3 -1430 620 1980| D1 D3 2NS-2 ¥K -100 55.0 205.0|G17 G4 3¢+ O-2 «4A 100 90.0 170.0
C3 C7 6vyV= &A -1430 62.0 198.0| B2 B12 2NS-2 #4 -100 55.0 205.0| Q1 Q19 2v V-1 45 50 58.0 202.0
F3 F4 6vV= A -1430 62.0 1980| E3 E4 3NS-2 &9 -100 55.0 205.0| A2 A3 3¢ O-1 &K 50 58.0 202.0
K3 K7 64 O= ¢A -1430 620 198.0( L3 L4 2NS-2 &8 -100 55.0 205.0| D2 D4 3v V-1 43 50 58.0 202.0
M3 M8 64 O= #2 -1430 62.0 198.0| 14 12 34 S-2 46 -100  55.0 205.0| K3 K7 4v O-1 «A 50 58.0 202.0
R4 R6 6vy V= ¢5 -1430 62.0 1980 K4 K6 3¢ S-2 6 -100 55.0 205.0| S3 S7 3NO-1 49 50 58.0 202.0
E6 E1 64 O= ¢J -1430 620 198.0( R4 R6 3¢ S-2 46 -100 55.0 205.0| D6 D10 4v V-1 46 50 58.0 202.0
P6 P3 64 O= 43 -1430 620 1980 S4 S6 1¢ S-2 vK -100 55.0 205.0| M7 M6 3v V-1 46 50 58.0 202.0
C8 C2 64V= &K -1430 62.0 198.0| O5 O15 24 N-2 &5 -100 55.0 205.0|B10 B6 3v V-1 45 50 58.0 202.0
K8 K2 64 O= ¢A -1430 620 198.0| Q6 Q17 24 N-2 #5 -100 55.0 205.0|K10 K5 4v V-1 &A 50 58.0 202.0
K10 K5 64 O= ¢A -1430 620 1980 M7 M6 34 S-2 46 -100  55.0 205.0|010 O13 4v O-1 4A 50 58.0 202.0
S10 S5 64 O= v6 -1430 62.0 198.0| N7 N3 3¢ S-2 vK -100 55.0 205.0(N11 N10 4v O-1 A 50 58.0 202.0
D11 D20 64 O= &8 -1430 62.0 1980 18 17 34 N-2 &5 -100 55.0 205.0|E13 E8 4v V-1 46 50 58.0 202.0
Q21 Q26 64 O= ¢A -1430 62.0 198.0|L10 L12 2NS-2 vK -100 55.0 205.0|Q17 Q15 3v V-1 43 50 58.0 202.0
Q25 Q3 64 O= #3 -1430 62.0 198.0|E13 E7 2NS-2 vK -100 55.0 205.0| M2 M14 24 S-1 +K -100 32.0 228.0
B80 B7 64 O= ¢A -1430 62.0 198.0|018 012 2NS-2 ¢J -100 55.0 205.0| J3 J13 34 S-1 ¢K -100 32.0 228.0
B2 B12 6NV= ¢T -1440 20.0 240.0(Q18 Q16 2NS-2 vQ -100 55.0 205.0| Q3 Q24 34 S-1 ¢K -100 32.0 228.0
U2 Ul 6NV= T -1440 20.0 240.0|Q22 Q8 3¢ S-2 vQ -100 550 2050 A4 A8 34 S-1 ¢K -100 32.0 228.0
14 12 6NV= ¢4 -1440 20.0 240.0|N11 N10 2v O= #A -110 36.0 2240| G7 G6 44 S-1 &6 -100 32.0 228.0
K4 K6 6NV= ¢T -1440 20.0 240.0( L9 L5 2NV= 2 -120  32.0 228.0| L7 L2 34S-1 ¢K -100 32.0 228.0
Q4 Q13 6NV=  ¢3 -1440 20.0 2400 Q9 Q24 2NV= 2 -120  32.0 228.0|Q10 Q25 34 S-1 ¢K -100 32.0 228.0
T5 T7 6NV= ¢3 -1440 20.0 240.0 (B74 B73 2NV = 2 -120  32.0 228.0|J12 J4 34 S-1 ¢K -100 32.0 228.0
B6 B8 6NV= &6 -1440 20.0 2400 F1 F10 INV+2 ¥5 -150 20.0 240.0 {012 O17 44 S-1 ¢K -100 32.0 228.0
Q6 Q17 6NV= 6 -1440 200 2400 R1 R2 34 S-3 46 -150 20.0 240.0|Q12 Q4 24 S-1 v2 -100  32.0 228.0
D7 D13 6NV= ¢T -1440 20.0 2400 T4 T8 3¢ S-3 46 -150 20.0 240.0 | D17 D11 34 S-1 ¢K -100 32.0 228.0
E9 E5 6NV= &6 -1440 20.0 2400 E6 E1 3¢ S-3 46 -150 20.0 240.0|D18 D5 34 S-1 ¢K -100 32.0 228.0
19 I5 6NV= ¢4 -1440 20.0 240.0| J6 J8 3¢ S-3 46 -150 20.0 240.0|020 O2 34 S-1 ¢K -100 32.0 228.0
L9 L5 6NV= T -1440 20.0 240.0| S8 S2 44 N-3 &5 -150 20.0 240.0f H3 H4 3¢ O= «A -110 17.0 243.0
09 024 6NV= ¢T -1440 20.0 240.0( O9 024 2NS-3 &9 -150 20.0 240.0 |B75 B74 3¢ O= &A -110 17.0 243.0
111 16 6NV= ¢6 -1440 20.0 240.0|(L13 L7 3NS-3 46 -150 20.0 240.0| C1 C9 3v V= 46 -140  13.0 247.0
L14 L2 6NV= ¢3 -1440 20.0 240.0(D18 D4 3NS-3 &#T -150 20.0 240.0| N7 N3 3vV= 46 -140  13.0 247.0
G16 G12 6NV= T -1440 20.0 240.0|J14 J15 44 N-4 44  -200 9.0 251.0| C4 C6 44 S-2 vQ -200 7.0 253.0
D17 D10 6NV= ¢T -1440 20.0 240.0 Q21 Q26 4v N-4 &5 -200 9.0 251.0| S8 S2 44 S-2 ¢K -200 7.0 253.0
Q22 Q8 6NV= ¢3 -1440 20.0 240.0|Q14 Q11 34D S-2 46 -300 6.0 254.0 |G11 G18 44 S-2 ¢K -200 7.0 253.0
B71 B76 6NV = T -1440 20.0 240.0{S10 S5 44DN-3 ¢T  -500 4.0 256.0|G16 G1 34 S-2 +¢3 -200 7.0 253.0
B74 B73 6NV= T -1440 20.0 240.0| Q7 Q19 3¢DS-4 vQ -800 2.0 258.0|L14 L3 INS-4 +v8 -400 2.0 258.0
B75 B72 6NV= ¢4 -1440 20.0 240.0|L14 L2 44DN-5 &5 -1100 0.0 260.0| S4 S6 44DS-2 vQ -500 0.0 260.0
- M12 110.8 - M12 110.8 - M12 110.8
J5 - 1314 J5 - 1314 B2 - 100.9
- Al 149.0 - Al 149.0 - Al 149.0
- L1 166.3 - L1 166.3| J7 - 1415
G7 - 1214 G7 - 1214 u7 - 110.0
u7 - 110.0 u7 - 110.0 G8 - 147.0
E8 - 152.4 E8 - 152.4 - R5 95.5
- RS 95.5 - RS 955| H9 - 90.0
H9 - 90.0 H9 - 90.0 - C5 154.0
- C5 154.0 - C5 154.0 | L10 - 166.3
B79 - 126.1 B79 - 126.1 - E1 147.3
16 48763 Basta kontrakt 17 & E9632 Basta kontrakt 18 443 Basta kontrakt
Vast v K54 3v V =-140 Nord v K8532 5NT N =460 Ost vE874 2 S =90
oV ¢ E42 Ingen ¢ 97 NS + Kn962
#1054 & ¢ v & NT &K & ¢ v & NT #982 & ¢ v & NT
4 DKn952 #4 N7 5457 & K54 48 N6 9 9 1111 « D87 4 Kn965 N87 6 65
vKn1063 vED98 S754565 vE10 v D974 S6 9 9 1111 vKD1032 vKn9 S87 665
+93 ¢ DKn875 O6 89 86 4 853 + K106 072422 ¢+ K74 ¢+ D103 055777
D2 #EKn8 V68976 #E10832 #Kn9764 V72412 #K10 D654 V55777
« EK10 « DKn107 & EK102
v72 v Kn6 v 65
+ K106 + EDKn42 + E85
#K9763 «D5 #EKN73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B3 B13 3NDO-4 #6 1100 260.0 00| C2 Cl1 44DS= #A 590 260.0 0.0| B3 B69 2vDV-2 44 300 2590 1.0
A3 A4 3NO-4 #»6 400 2560 40| T3 T4 54DV-3 ¢9 500 2550 50(L10 L1 2¢vDV-2 4 300 2590 1.0
M5 M12 4v O-4 A 400 2560 40| C9 C3 5#4DV-3 4A 500 2550 50| N2 N10 INS+1 &K 120 2540 6.0
L13 L8 3NO-4 &6 400 2560 4.0(Bl2 B6 4#DV-3 ¢9 500 2550 50| 19 16 INS+1 ¢K 120 2540 6.0
01 018 3NO-3 #3 300 2480 120(J13 J5 54DV-3 «A 500 2550 50|N12 N6 INS+1 &K 120 2540 6.0
D9 D19 2NO-3 #3 300 248.0 120| Q3 Q22 44 N+2 v4 480 2450 15.0| Q4 Q25 24 S= ¢4 110 250.0 10.0
012 017 4v O-3 #A 300 2480 12.0| J7 J11 44 N+2 ¢6 480 2450 150| B2 B70 2v V-2 44 100 2370 23.0
020 O2 2NO-3 &3 300 2480 120| 19 16 44 N+2 v4 480 2450 150| 12 110 2v V-2 44 100 2370 23.0
023 09 24 V-3 &4 300 248.0 12.0(D14 D2 44 N+2 v4 480 2450 150| A3 A4 2vV-2 &4 100 2370 23.0
K2 K1 3v0O-2 v2 200 2380 22.0(Q18 Ql 44 N+2 48 480 2450 150| M3 M7 2v V-2 &2 100 237.0 23.0
C4 C8 3¢ O-2 4A 200 238.0 22.0|(B73 B78 44 S+2 vA 480 2450 150| E5 E6 2vV-2 44 100 237.0 230
S4 S8 3NO-2 #3 200 238.0 220| K2 K1 44 S+1 &A 450 2180 42.0| M5 M12 24 O-2 v5 100 237.0 23.0
D13 D8 INO-2 &3 200 2380 220 Q2 Q20 44 N+1 &7 450 218.0 420| T6 T8 2v V-2 44 100 2370 23.0
Q26 Q22 3NO-2 &3 200 2380 220| S2 S1 44 S+1 #A 450 218.0 420| T7 T2 2vV-2 &4 100 2370 23.0
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280 C4 C8 44 N+1 #J 450 218.0 42.0|Q1l1
300 F4 F5 44 S+1 vA 450 218.0 42.0 (G17
320 Q4 Q25 44 N+1 ¢6 450 218.0 42.0|D18
440| C5 C7 44 S+1 &A 450 218.0 42.0|B77
440 K5 K7 44 N+1 ¢4 450 218.0 42.0( N1
440 M5 M12 44 N+1 v4 450 218.0 42.0| Q2
440| J6 J12 44 N+1 &6 450 218.0 420| R4
440 D7 D11 44 N+1 #4 450 218.0 42.0 Q16
440 O7 O18 44 N+1 %6 450 218.0 42.0|Q18
44.0| Q7 Q17 44 N+1 &5 450 218.0 42.0|B76
440 D8 D15 44 S+1 #A 450 218.0 42.0(B79
440| E8 E3 44 S+1 &A 450 218.0 420| F4
440 N9 N3 44 S+1 &A 450 218.0 42.0 11
44.0(S10 S6 44 N+1 #4 450 218.0 42.0( H2
60.0 | Q13 Q5 44 N+1 7 450 218.0 42.0| O2
60.0 (024 O10 44 S+1 A 450 218.0 42.0| D3
60.0 |B76 B75 44 S+1 3 450 218.0 42.0( Q3
60.0 |B79 B72 44 S+1 vA 450 218.0 42.0]| U3
60.0( J1 J2 4e &7 420 168.0 92.0( C4
82.0( O1 O17 4e 8 420 168.0 92.0| M4
82.0| B3 B69 4e &A 420 168.0 92.0( S4
82.0| D3 D5 4e v7 420 168.0 92.0( B5
82.0( M3 M7 4e &) 420 168.0 92.0| K5
82.0| U3 U2 4e &A 420 168.0 92.0( S5
82.0| E4 El4 4e &7 420 168.0 92.0( T5
82.0( B5 B13 4e ¢T 420 168.0 92.0| O6
82.0| N5 N7 4e &9 420 168.0 92.0( D7
82.0| P5 P2 4a v7 420 168.0 92.0( F7
82.0( S5 S7 4e &4 420 168.0 92.0| Q7
82.0| O6 015 4e vA 420 168.0 92.0( E8
82.0| Q6 Q15 4a vA 420 168.0 92.0( G8
820 T6 T8 4e &A 420 168.0 92.0| L8
82.0| F7 F1 4e vA 420 168.0 92.0( N8
82.0| B8 B10 4e &6 420 168.0 92.0( M9
820 F8 F3 4e &7 420 168.0 92.0| Q9
82.0| L8 L3 4e &A 420 168.0 92.0 [ K10
106.0 | K9 K3 4e &4 420 168.0 92.0( L11
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106.0 | L10 L1 4e 420 168.0 92.0|011
106.0 |Q11 Q12 4e ¢+6 420 168.0 92.0 [ B12
106.0 |E12 E2 4e vA 420 168.0 92.0 [ E12
106.0 | E13 E9 4e &4 420 168.0 92.0 |G15
106.0 |0O13 O5 4e v7 420 168.0 92.0 (D16
106.0 |D16 D4 4e &A 420 168.0 92.0 (G16
128.0 | D17 D12 4e 9 420 168.0 92.0|G18
128.0 |G18 G12 4e &6 420 168.0 92.0 (D20
128.0 | D19 D10 4e &4 420 168.0 92.0 [Q26
128.0 |Q26 Q23 4e &6 420 168.0 92.0| G6
128.0| J4 J14 2e 4 #9 230 136.0 124.0 [ L13
128.0| T5 T1 2 4 ¢6 230 136.0 124.0( R5
128.0| J15 J3 34 3 #3 230 136.0 124.0| J1
128.0| B2 B70 54V-4 +¢9 200 114.0 146.0  F2

128.0| F2 F10 3
128.0 12 110 3
128.0| R2 R3 2

&6 200 114.0 146.0 | S2
200 114.0 146.0| G3
v4 200 114.0 146.0 | J4

+ + +
WN N
<>
(o]

128.0| A3 A4 54V-4 sA 200 114.0 146.0 | K4
128.0| K4 K8 14 N+4 #4 200 114.0 146.0| O4
128.0| L4 L14 34 S+2 #A 200 114.0 146.0 [ A5
128.0| O4 023 14 N+4 48 200 114.0 146.0 [ C5
155.0] R4 R1 34 N+2 &7 200 114.0 146.0 15
155.0| E5 E6 34 S+2 vA 200 114.0 146.0 | A7

NZZ<NZ2Z2Z0NZ2<2Z2Z2Z2Z<NZ2Z2ZZZZZNZZNZZZNZZ2Z00NL0NNZ2Z2ZZ2Z2ZZ0Z22Z022

155.0| G8 G7 54V-4 &«A 200 114.0 146.0 | H7
155.0| J8 J10 34 N+2 &6 200 114.0 146.0| U7
155.0| N8 N4 34 N+2 &4 200 114.0 146.0( B8
155.0| Q8 Q19 34 S+2 &A 200 114.0 146.0( F8

155.0 (011 014 1e v3 200 114.0 146.0| H8
155.0 |G15 G10 34 200 114.0 146.0| J8
155.0 |Q16 Q14 3 «A 200 114.0 146.0 C9
155.0 (021 O3 34 S+2 vA 200 114.0 146.0| D9
155.0|022 09 24 N+3 ¥9 200 114.0 146.0| F9
155.0| M2 M13 34 S+1 vA 170 81.0 179.0| N9
1720 A5 Al 34 N+1 &6 170 81.0 179.0 | L12
1720 G6 G1 24 N+2 »7 170 81.0 179.0 | 013
1720| P6 P4 34 N+1 &K 170 81.0 179.0 | D14
1720 H7 H1 34 N+1 «4 170 81.0 179.0 (D17
1720| H8 H3 34 N+1 &4 170 81.0 179.0 |022
1940| Q9 Q21 34 N+1 ¢7 170 81.0 179.0 | B71
1940 (L11 L7 34 S+1 T 170 81.0 179.0| C2
194.0 (M14 M6 34 N+1 ¥4 170 81.0 179.0| D8
194.0|G16 G2 34 N+1 #4 170 81.0 179.0 U8
194.0 (G17 G5 34 N+1 v4 170 81.0 179.0 | 112
194.0 (D18 D6 24 N+2 #J 170 81.0 179.0 |O12
1940 |D20 D1 24 N+2 ¢7 170 81.0 179.0 |021
194.0(B80 B9 34 N+1 &7 170 81.0 179.0 | Q6
194.0| G3 G11 3¢ S+2 #A 150 62.0 198.0 | K9
1940| R5 R7 540-3 #A 150 62.0 198.0 [ S9
194.0( D9 D13 54V-3 «4A 150 62.0 198.0| O1
1940| F9 F6 2¢ N+3 48 150 62.0 198.0| P1
194.0|B77 B74 440-3 +¢9 150 62.0 198.0 [ K2
1940 G4 G14 34 N= &7 140 51.0 209.0 | M2
1940 A7 A2 24 N+1 &4 140 51.0 209.0 | R2
N =
S=

nwzz
+ + +

NN B
.
(2]

194.0 |B11 B7 3 &6 140 51.0 209.0( T3
194.0 | L12 L2 3 vA 140 51.0 209.0| E4
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-200
-200
-200
-200
-200
-200

237.0
237.0
237.0
237.0
218.0
218.0
218.0
218.0
218.0
218.0
218.0
210.0
175.0
175.0
175.0
175.0
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139.0
139.0
136.0
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75.0

75.0

75.0

75.0

75.0

75.0

66.0

66.0

66.0

35.0

35.0

35.0

35.0

35.0

35.0

35.0

23.0
23.0
23.0
23.0
42.0
42.0
42.0
42.0
42.0
42.0
42.0
50.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
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85.0
85.0
85.0
85.0
85.0
85.0
85.0
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85.0
85.0
85.0
85.0
85.0
85.0
85.0
85.0
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85.0
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121.0
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D1 D14 3#S-3 +¢9 -150 37.0 223.0|N12 N6 34 N= #6 140 51.0 209.0| L4 L14 INS-2 +8 -200 35.0 225.0
G2 G10 2NO +1 #6 -150 37.0 223.0 (012 O16 3« N= ¥4 140 51.0 209.0| N5 N7 INS-2 ¢K -200 35.0 225.0
12 110 INO+2 &3 -150 37.0 223.0 I5 13 3¢ S+1 #A 130 43.0 217.0| J6 J12 INS-2 3 -200 35.0 225.0
Q2 Q21 3#S-3 +¢9 -150 37.0 223.0( O8 020 3¢ S+1 %2 130 43.0 217.0| P6 P4 INS-2 vK -200 35.0 225.0
P5 P2 2NO+1 &3 -150 37.0 223.0( O2 019 44V-2 +9 100 37.0 223.0 17 111 INS-2 &7 -200 35.0 225.0
G7 G6 4#S-3 +9 -150 37.0 223.0( M4 M10 3#V-2 ¢9 100 37.0 223.0| J7 J11 INS-2 *T -200 35.0 225.0
N9 N3 3#S-3 +¢9 -150 37.0 2230 T7 T2 44V-2 +9 100 37.0 223.0| 08 020 INS-2 ¢K -200 35.0 225.0
Ji12 J4 3#S-3 4Q -150 37.0 223.0( 112 4 34V-2 +9 100 37.0 223.0| Q8 Q19 INS-2 +vQ -200 35.0 225.0
N12 N6 4#S-3 49 -150 37.0 2230 H9 H6 3#V-1 9 50 30.0 230.0| H9 H6 INS-2 +4 -200 35.0 225.0
Ql2 Q4 3#S-3 +¢9 -150 37.0 223.0( M9 M8 3#V-1 49 50 30.0 230.0 |E10 E1 INN-2 #J -200 35.0 225.0
Gl6 G1 14 N-3 ¢Q -150 37.0 223.0|K10 K6 4#V-1 &A 50 30.0 230.0|S10 S6 INS-2 ¥¢K -200 35.0 225.0
B75 B74 2#S-3 46 -150 37.0 223.0 11 I8 44 N-1 &6 -50 18.0 242.0(B11 B7 INN-2 ¥J -200 35.0 225.0
U2 Ul 2vO+2 v2 -170  18.0 242.0 N1 N11 44 S-1 ©vA -50 18.0 242.0(J13 J5 INS-2 vK -200 35.0 225.0
T6 T8 3v O+1 &K -170 18.0 242.0| H2 H10 44 N-1 v4 -50 18.0 242.0(Q13 Q5 INS-2 3 -200 35.0 225.0
Q7 Q18 3y O+1 &K -170 18.0 2420| S4 S8 44 S-1 v4 -50 18.0 242.0(M14 M6 2NS-2 +vK -200 35.0 225.0
B10 B6 3v O+1 &6 -170  18.0 2420 U7 U5 54 S-1 vA -50 18.0 242.0(J15 J3 24 S-2 3 -200 35.0 225.0
K10 K6 2v O+2 6 -170 18.0 2420 U8 Ul 2v N-1 &7 -50 18.0 242.0|(D19 D10 INS-2 vK -200 35.0 225.0
B70 B79 3v O+1 A -170 18.0 242.0|E10 E1 44 N-1 &4 -50 18.0 242.0 ({024 010 INS-2 2 -200 35.0 225.0
B78 B71 3v O+1 &3 -170  18.0 242.0(L13 L9 44 N-1 v4 -50 18.0 242.0(Q24 Q10 INS-2 vK -200 35.0 225.0
03 022 2N O +2 4 -180 9.0 251.0|B71 Bl 44 S-1 &A -50 18.0 242.0|(B73 B78 INS-2 vK -200 35.0 225.0
N5 N7 2NO+2 v7 -180 9.0 251.0 17 111 INV= &2 -90 8.0 252.0|B80 B9 2¢ N-2 #J -200 35.0 225.0
A7 A2 3#S-4 49 -200 4.0 256.0| P1 P3 54 N-2 43 -100 5.0 255.0| O7 018 2NS-3 +¥2 -300 5.0 255.0
L14 L3 24 N-4 ¢Q -200 4.0 256.0 ([Q24 Q10 4v N-2 438 -100 5.0 255.0 |E13 E9 2NS-3 ¥vK -300 5.0 255.0
J16 J8 3&#S-4 vJ -200 4.0 256.0| N2 N10 24V +1 «A -110 2.0 258.0| P5 P2 3NN-4 v6 -400 2.0 258.0
06 016 4v V= &4 -620 0.0 260.0| S9 S3 3aV+1l ¢7 -130 0.0 260.0| G4 G14 INDS-2 ¥2 -500 0.0 260.0
- M11 130.2 - M11 130.2 - M11 130.2
B2 - 100.9 B4 - 128.8 B4 - 128.8
H4 - 152.9 H4 - 152.9 H4 - 152.9
- A8 166.9 - U6 168.4 - U6 168.4
J7 - 1415 L5 - 125.0 L5 - 125.0
u7 - 110.0 - A8 166.9 - A8 166.9
G8 - 147.0 - R6 166.3 - R6 166.3
- R6 166.3 - C6 124.4 - C6 124.4
- C6 124.4 - E7 132.6 - E7 132.6
L10 - 166.3 - G9 144.0 - G9 144.0
- El 147.3 | J16 - 133.5 J16 - 133.5
19 4 K10963 Bésta kontrakt 20 4 Kn872 Bésta kontrakt 21 4 E109 Bésta kontrakt
Syd v 109 54 S =450 Vast vD9 ANT N =630 Nord v KKn72 34 V =-140
(6)) * K2 Alla + KKn108 NS + K53
#ED85 & ¢ v & NT #652 & ¢ v & NT #Kn65 & ¢ v & NT
4EKN8 &7 N8 7 5 107 464 & EK95 N9 9 7 9 10 & KKn 4 D7643 N6 26 45
vED83 vKn7542 S 87 5 118 v10742 vK653 SS9 97 9 10 vE4 v 1083 S6 2645
¢+ 1075 ¢ DKn6 O537 24 + D653 492 033643 ¢ ED9742 ¢+ 1086 O 6 106 8 8
#962  #Knl043 V53724 #Kn43 #K109 V 33643 #1097 #EK V 6 106 9 8
&« D542 4 D103 4852
v K6 v EKn8 v D965
+ E9843 ¢ E74 ¢+ Kn
*K7 #ED87 #D8432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
T7 T1 5¢DV-2 T 500 260.0 00| F9 F7 14DO-4 ¢4 1100 259.0 1.0 19 17 2vS+2 +2 170 260.0 0.0
F1 F4 44 N+2 &7 480 2550 5.0|G1l7 G6 24DO-4 ¢+A 1100 2500 10| T4 T5 44 O-3 ¢J 150 258.0 2.0
L1 L3 44 N+2 &7 480 255.0 5.0 N6 N8 3NS+2 v4 660 256.0 4.0| M2 M12 3NV-1 &3 50 247.0 13.0
Q3 Q21 44 N+2 ¢6 480 255.0 5.0( B4 B70 3NS+1 ¥4 630 249.0 11.0| N3 N11 34 O-1 ¢J 50 247.0 13.0
19 17 44 N+2 #J 480 255.0 50| T4 T5 3NS+1 46 630 249.0 11.0| B7 B69 34 O-1 ¢J 50 247.0 13.0
Jl J4 44 N+1 #J 450 2310 29.0( T7 T1 3NN+1 «A 630 249.0 110 T8 T3 34 O-1 ¢J 50 247.0 13.0
M2 M12 44 N+1 &7 450 2310 29.0( L9 L4 3NS+1 T 630 249.0 11.0|Q10 Q21 34 O-1 ¥6 50 247.0 13.0
M3 M14 44 N+1 &J 450 231.0 29.0(E13 E10 3NS+1 v4 630 249.0 11.0|B13 B9 3NO-1 &2 50 247.0 13.0
N3 N11 44 N+1 &4 450 2310 29.0(Q19 Q2 3NS+1 ¢5 630 2490 11.0(J16 J11 4e¢ V-1 w2 50 247.0 13.0
U3 U2 44 N+1 #J 450 231.0 29.0|G1l6 G3 44 N= 2 620 2420 18.0|G1l7 G7 4¢ V-1 7 50 247.0 13.0
B4 B70 44 N+1 #J 450 231.0 29.0( G4 G12 3NS= ¢3 600 237.0 23.0|D20 D3 3NO-1 &2 50 247.0 13.0
C5 C9 44 N+1 #J 450 231.0 29.0| E5 E14 3NS= &3 600 237.0 23.0({Q20 Q3 34 O-1 +¢J 50 247.0 13.0
J5 J15 44 N+1 ¢Q 450 231.0 29.0( Q5 Q12 3NS= ¥4 600 237.0 23.0( P3 P2 2¢v N-1 43 -100 234.0 26.0
C6 C8 44 N+1 &7 450 231.0 29.0(B80 B10 3NS= #J 600 237.0 230 K6 K8 2&#N-1 3 -100 234.0 26.0
J7 J13 44 N+1 #J 450 231.0 29.0| J1 J4 INDO-2 7 500 2310 29.0( M8 M7 2¢¥ N-1 A -100 2340 26.0
H8 H2 44 N+1 &7 450 231.0 29.0| T8 T3 3vDO-2 4T 500 2310 290 F1 F4 3¢ V= v2 -110 209.0 51.0
F9 F7 44 N+1 ¢6 450 231.0 29.0( P1 P3 INO-4 8 400 2270 33.0( H1L H4 3¢ V= 97 -110 209.0 51.0
G9 G8 44 S+1 #9 450 231.0 29.0|N12 N7 INO-4 &7 400 227.0 33.0( D2 D17 24 O= ¢J -110 209.0 51.0
Q9 Q20 44 N+1 +Q 450 231.0 29.0|L11 L2 INDS+1 &3 380 2240 36.0( O2 017 3¢ V= vK -110 209.0 51.0
B13 B7 44 N+1 ¢Q 450 231.0 29.0| O2 O18 24 O-3 ¢4 300 220.0 40.0| H3 H10 3¢ V= v7 -110 209.0 51.0
Q14 Q6 44 N+1 T 450 231.0 29.0| M3 M14 INO-3 &7 300 220.0 40.0( J3 J4 24 O= v5 -110 209.0 51.0
G16 G3 44 N+1 ¢Q 450 231.0 29.0| Q7 Q16 2¢ V-3 47 300 220.0 400 C5 C9 2¢ V+1 w2 -110 209.0 51.0
J16 J10 44 N+1 &J 450 231.0 29.0| L1 L3 INS+4 4 210 206.0 54.0( O6 O13 3¢ V= v7 -110 209.0 51.0
Q17 Q1 44 N+1 #J 450 2310 29.0( S1 S4 INS+4 3 210 2060 540 R6 R1 3¢ V= 2 -110 209.0 51.0
G18 G1 44 N+1 &4 450 231.0 29.0f S3 S2 INS+4 46 210 206.0 540 S6 S8 3¢ V= v7 -110 209.0 51.0
Bl B73 44 N= v4 420 170.0 90.0( A4 A5 INS+4 +3 210 206.0 540| F8 F2 3¢ V= #2 -110 209.0 51.0
Ol 016 44 N= #J 420 170.0 90.0| S6 S8 INS+4 7 210 206.0 540 G8 G3 3¢ V= v7 -110 209.0 51.0
J2 J3 44 N= &J 420 170.0 90.0| J7 J13 INS+4 46 210 206.0 540 H8 H2 3¢ V= 2 -110 209.0 51.0
B3 B71 44 N= v6 420 170.0 90.0| U8 Ul INS+4 2 210 206.0 54.0|B10 B12 2¢ V+1 45 -110 209.0 51.0
C3 C2 44 N= &J 420 170.0 90.0| E9 E4 INS+4 #3 210 206.0 54.0(L10 L5 2¢ V+1 &5 -110 209.0 51.0
D3 D14 44 N= v2 420 170.0 90.0 19 17 INS+4 44 210 206.0 54.0(010 022 3¢ V= w7 -110 209.0 51.0
I3 110 44 N= ¢5 420 170.0 90.0|Q10 Q22 INS+4 2 210 206.0 54.0| 112 I5 2¢ V+1 &J -110 209.0 51.0
K3 K2 44 N= &7 420 170.0 90.0(B13 B7 INS+4 v2 210 206.0 54.0(014 O12 3¢ V= v2 -110 209.0 51.0
T4 T5 44 N= ¢Q 420 170.0 900 F1 F4 2vO-2 +A 200 193.0 67.0|Q14 Q12 3¢ V= #2 -110 209.0 51.0
E5 E14 44 N= &J 420 170.0 90.0( B5 B69 INO-2 &7 200 193.0 67.0|G16 G4 3¢ V= &5 -110 209.0 51.0
F5 F6 44 N= ¢6 420 170.0 90.0| H1 H4 INS+3 3 180 168.0 92.0|G18 G2 2¢ V+1 &5 -110 209.0 51.0
G5 G14 44 N= ¢Q 420 170.0 90.0| B3 B71 INS+3 6 180 168.0 92.0|B80 Bll 2¢ V+1 &J -110 209.0 51.0
K5 K9 44 N= 97 420 170.0 90.0| C3 C2 INS+3 T 180 168.0 920 K1 K4 INV+1 w7 -120 184.0 76.0
M5 M11 44 N= &3 420 170.0 90.0| H3 H10 INS+3 46 180 168.0 92.0 8 Q17 INV+1 v2 -120 184.0 76.0
P5 P2 44 N= 5 420 170.0 90.0 I3 110 INS+3 &3 180 168.0 92.0(G12 G15 INV+1 w7 -120 184.0 76.0
S5 S9 44 N= ¢Q 420 170.0 90.0| D5 D16 INS+3 5 180 168.0 92.0| C1 C4 3¢ V+1 &5 -130 130.0 130.0
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16 14 4a &J 420 170.0 90.0( L5 L14 INS+3 44 180 168.0 92.0| L1 L9 3¢ V+1 v7 -130 130.0 130.0

N =

P6 P4 44 N= v2 420 170.0 90.0| K6 K8 INS+3 &3 180 168.0 92.0| O1 O15 3¢ V+1 +8 -130 130.0 130.0
G7 G2 44 N= #4 420 170.0 90.0| R6 R1 2NS+2 T 180 168.0 92.0| S1 S4 3¢ V+1 w7 -130 130.0 130.0
Q7 Q16 44 N= #T 420 170.0 90.0( A8 A3 INS+3 v2 180 168.0 920 E2 E4 3¢ V+1 w7 -130 130.0 130.0
A8 A3 44 N= #J 420 170.0 90.0| D8 D12 INS+3 5 180 168.0 92.0 12 11 4¢ V= v7 -130 130.0 130.0
D8 D12 44 N= &7 420 170.0 90.0| Q8 Q18 INS+3 3 180 168.0 92.0| J2 J5 3¢ V+1 #2 -130 130.0 130.0
08 019 44 N= #3 420 170.0 90.0( B9 B11l INS+3 43 180 168.0 92.0 I3 110 3¢ V+1 &5 -130 130.0 130.0
U8 Ul 44 N= &J 420 170.0 90.0| Q9 Q20 2NS+2 2 180 168.0 92.0| K3 K2 2¢ V+2 w7 -130 130.0 130.0
B9 Bll 44 N= v4 420 170.0 90.0|B12 B8 INS+3 &3 180 168.0 92.0| R3 R4 2¢ V+2 ¥2 -130 130.0 130.0
L9 L4 464 N= v4 420 170.0 90.0( 112 I5 INS+3 +5 180 168.0 92.0| S3 S2 2¢ V+2 #J -130 130.0 130.0
K10 K7 44 N= &4 420 170.0 90.0|L13 L10 INS+3 ¥4 180 168.0 92.0| A4 A5 2¢ V+2 &6 -130 130.0 130.0
S10 S7 44 N= #J 420 170.0 90.0|013 O11 INS+3 2 180 168.0 92.0| B4 B72 4¢ V= &5 -130 130.0 130.0
Gll G15 44 N= &J 420 170.0 90.0 (Q14 Q6 2NS+2 43 180 168.0 920 M4 M9 4¢ V= w7 -130 130.0 130.0
L11 L2 44 N= ¢Q 420 170.0 90.0|D18 D7 INS+3 5 180 168.0 92.0| O4 021 3¢ V+1 w7 -130 130.0 130.0
L12 L8 44 N= ¢7 420 170.0 90.0|D20 D2 INS+3 3 180 168.0 92.0| D5 D7 4¢ V= v7 -130 130.0 130.0
N12 N7 44 N= &J 420 170.0 90.0(B72 B2 INS+3 ¥4 180 168.0 920 F5 F6 3¢ V+1 vJ -130 130.0 130.0
012 O15 44 N= ¢Q 420 170.0 90.0|B77 B76 INS+3 v4 180 168.0 92.0| G5 G1 3¢ V+1 ¢K -130 130.0 130.0
D13 D10 44 S= vA 420 170.0 90.0| O7 O17 24 N+2 2 170 143.0 117.0| M5 M11 3¢ V+1 #2 -130 130.0 130.0
E13 E10 44 N= v5 420 170.0 90.0 (Q26 Q24 34 N+1 ¢K 170 143.0 117.0 Q5 Q24 2¢ V+2 w7 -130 130.0 130.0
013 O11 44 N= 5 420 170.0 90.0| C1 C4 INS+2 T 150 109.0 151.0| R5 R2 2¢ V+2 &] -130 130.0 130.0
D17 D1 44 N= 5 420 170.0 90.0| K1 K4 INS+2 &J 150 109.0 151.0( S5 S9 3¢ V+1 w7 -130 130.0 130.0
Gl7 G6 44 N= ¢Q 420 170.0 90.0( O1 O16 INS+2 «T 150 109.0 151.0| C6 C8 3¢ V+1 #6 -130 130.0 130.0
D19 D11 44 N= #J 420 170.0 90.0| J2 J3 INS+2 3 150 109.0 151.0| M6 M13 3¢ V+1 ¥2 -130 130.0 130.0
D20 D2 44 N= ¢6 420 170.0 90.0| D3 D14 INS+2 ¥4 150 109.0 151.0| P6 P5 3¢ V+1 w7 -130 130.0 130.0
Q25 Q11 44 N= v5 420 170.0 90.0( F3 F10 INS+2 «T 150 109.0 151.0( T6 T2 2¢ V+2 2 -130 130.0 130.0
A4 A5 24 N+3 ¢Q 200 127.0 133.0| N3 N11 INS+2 2 150 109.0 151.0| A7 Al 3¢ V+1 ¥2 -130 130.0 130.0
S6 S8 4v O-2 44 200 127.0 133.0| U3 U2 INS+2 2 150 109.0 151.0| E7 E8 2¢ V+2 w7 -130 130.0 130.0
N6 N8 24 N+2 &J 170 122.0 138.0( D4 D6 INS+2 ¢2 150 109.0 151.0( L7 L8 3¢ V+1 &A -130 130.0 130.0
A7 Al 34 N+1 &7 170 122.0 138.0| J5 J15 2NS+1 2 150 109.0 151.0| Q7 Q15 3¢ V+1 &5 -130 130.0 130.0
I8 111 34 N+1 ¢6 170 122.0 138.0| K5 K9 INS+2 &3 150 109.0 151.0| T7 T1 3¢ V+1 w7 -130 130.0 130.0
N2 N1 24 N+1 5 140 112.0 148.0 M5 M11 INS+2 46 150 109.0 151.0 A8 A3 2¢ V+2 &5 -130 130.0 130.0
02 018 34 N= v2 140 112.0 148.0| O5 024 INS+2 4 150 109.0 151.0| O8 018 3¢ V+1 ¥2 -130 130.0 130.0
E6 E7 14 N+2 v2 140 112.0 148.0| S5 S9 INS+2 &3 150 109.0 151.0| D9 D1 3¢ V+1 &J -130 130.0 130.0
M8 M7 34 N= +vJ 140 112.0 1480 C6 C8 1INS+2 43 150 109.0 151.0( F9 F7 4¢ V= &5 -130 130.0 130.0
H9 H7 24 N+1 v4 140 112.0 148.0| E6 E7 INS+2 5 150 109.0 151.0| H9 H7 3¢ V+1 &5 -130 130.0 130.0
09 021 34 N= #3 140 112.0 148.0| M6 M13 2NS+1 3 150 109.0 151.0| N9 N5 3¢ V+1 &5 -130 130.0 130.0
Q10 Q22 34 N= v2 140 112.0 1480 P6 P4 INS+2 &2 150 109.0 151.0 [E10 E5 2¢ V+2 w7 -130 130.0 130.0
Cl C4 44 N-1 ¥5 -50 53.0 207.0| G7 G2 INS+2 v4 150 109.0 151.0|G10 G9 3¢ O+1 ¥2 -130 130.0 130.0
E1l E3 44 N-1 ¥5 -50 53.0 207.0| U7 U5 INS+2 &3 150 109.0 151.0 |E12 E3 2¢ V+2 &5 -130 130.0 130.0
H1 H4 44 N-1 3 -50 53.0 207.0( M8 M7 INS+2 &6 150 109.0 151.0 [ L12 L3 3¢ V+1 &5 -130 130.0 130.0
K1 K4 44 N-1 #J -50 53.0 207.0| G9 G8 INS+2 T 150 109.0 151.0| L13 L11 3¢ V+1 ¥2 -130 130.0 130.0
Pl P3 44 N-1 v2 -50 53.0 207.0( N9 N5 INS+2 #3 150 109.0 151.0| D14 D4 3¢ V+1 w7 -130 130.0 130.0
S1 S4 44 N-1 3 -50 53.0 207.0 K10 K7 INS+2 45 150 109.0 151.0 [E14 E6 3¢ V+1 w7 -130 130.0 130.0
12 11 44 N-1 v2 -50 53.0 207.0(E12 E8 INS+2 #3 150 109.0 151.0|G14 G6 4¢ O= v2 -130 130.0 130.0
F3 F10 44 N-1 ¥4 -50 53.0 207.0(J14 J6 INS+2 v2 150 109.0 151.0|Q18 Q2 2¢ V+2 ¥2 -130 130.0 130.0
H3 H10 44 N-1 2 -50 53.0 207.0(J16 J10 INS+2 ¥2 150 109.0 151.0 ({023 O5 3¢ V+1 v2 -130 130.0 130.0
03 020 44 N-1 v2 -50 53.0 207.0 (D17 D1 INS+2 v2 150 109.0 151.0|024 O11 3¢ V+1 w7 -130 130.0 130.0
R3 R4 44 N-1 v4 -50 53.0 207.0(Q17 Q1 INS+2 43 150 109.0 151.0|Q26 Q25 3¢ V+1 w7 -130 130.0 130.0
S3 S2 44 N-1 v2 -50 53.0 207.0({G18 G1 INS+2 ¢2 150 109.0 151.0 [B75 Bl 2¢ V+2 43 -130 130.0 130.0
D4 D6 44 N-1 vJ -50 53.0 207.0 (D19 D11 INS+2 #J 150 109.0 151.0 [B79 B76 3¢ V+1 &5 -130 130.0 130.0
G4 G12 44 N-1 v4 -50 53.0 207.0 (B74 B79 INS+2 %3 150 109.0 151.0( N2 N1 24 O+l ¥5 -140 72.0 188.0
M4 M9 44 N-1 #J -50 53.0 207.0( P5 P2 24 N+1 +9 140 71.0 189.0( U2 U8 24 O+l v5 -140 72.0 188.0
Q4 Q23 44 N-1 &T -50 53.0 207.0 16 14 34 N= ¢9 140 71.0 189.0( U5 Ul 24 O+1 v6 -140 72.0 188.0
B5 B69 44 N-1 &J -50 53.0 207.0( O8 O19 24 N+1 49 140 71.0 189.0( Q6 Q13 24 O+1 +vQ -140 72.0 188.0
D5 D16 44 N-1 #4 -50 53.0 207.0( H9 H7 14 N+2 +9 140 71.0 189.0 (K10 K7 24 O+1 ¢J -140 72.0 188.0
L5 L14 44 N-1 w2 -50 53.0 207.0 (D15 D9 24 N+1 ¥3 140 71.0 189.0 [N10 N4 34 O= ¢J -140 72.0 188.0
05 024 44 N-1 #J -50 53.0 207.0 ([Q15 Q13 14 N+2 ¢2 140 71.0 189.0 |N12 N7 34 O= ¢J -140 72.0 188.0
Q5 Q12 44 N-1 +¢Q -50 53.0 207.0( H8 H2 2¢ S+2 *T 130 64.0 196.0| E1 E9 2¢ V+3 &5 -150 52.0 208.0
R5 R2 44 N-1 v7 -50 53.0 207.0( B1 B73 2NS= v7 120 47.0 213.0| L2 L4 3¢ V+2 vK -150 52.0 208.0
K6 K8 44 N-1 v2 -50 53.0 207.0( E1 E3 INS+1 v2 120 47.0 213.0| C3 C2 3¢ V+2 49 -150 52.0 208.0
R6 R1 44 N-1 7 -50 53.0 207.0( N2 N1 INS+1 ¥4 120 47.0 213.0| M3 M14 3¢ V+2 ¥2 -150 52.0 208.0
T6 T2 44 N-1 v2 -50 53.0 207.0| K3 K2 INS+1 #J 120 47.0 213.0| P4 Pl 2¢ V+3 &5 -150 52.0 208.0
O7 O17 44 N-1 v2 -50 53.0 207.0( C5 C9 INS+1 3 120 47.0 213.0| B5 B71 2¢ V+3 &5 -150 52.0 208.0
U7 U5 44 N-1 ¢Q -50 53.0 207.0( T6 T2 2NS= +2 120 47.0 213.0 16 14 3¢ V+2 &5 -150 52.0 208.0
F8 F2 44 N-1 #2 -50 53.0 207.0| A7 Al 2NS= T 120 47.0 213.0| U7 U6 4¢ V+1 &A -150 52.0 208.0
J8 J12 44 N-1 #J -50 53.0 2070 F8 F2 2NS= v2 120 47.0 213.0| Q9 Q19 2¢ V+3 &J -150 52.0 208.0
Q8 Q18 44 N-1 v4 -50 53.0 207.0 [G11 G15 INS+1 +2 120 47.0 213.0 |D10 D15 3¢ V+2 ¢3 -150 52.0 208.0
T8 T3 44 N-1 #J -50 53.0 207.0(L12 L8 INS+1 T 120 47.0 213.0| J10 J12 3¢ V+2 +3 -150 52.0 208.0
E9 E4 44 N-1 ¥5 -50 53.0 207.0 (D13 D10 INS+1 ¥4 120 47.0 213.0|D16 D6 3¢ V+2 &5 -150 52.0 208.0
N9 N5 44 N-1 v4 -50 53.0 207.0 ({014 O6 INS+1 ¥4 120 47.0 213.0|D18 D8 3¢ V+2 43 -150 52.0 208.0
N10 N4 44 N-1 v2 -50 53.0 207.0 (022 0O4 INS+1 v4 120 47.0 213.0| F3 F10 24 O+2 ¢J -170  32.0 228.0
B12 B8 44 N-1 ¥2 -50 53.0 207.0 (023 010 2NS= v2 120 47.0 213.0| K5 K9 24 O+2 ¢J -170  32.0 228.0
E12 E8 44 N-1 +¢Q -50 53.0 207.0 [Q25 Q11 INS+1 *7 120 47.0 213.0| B6 B70 34 O+1 ¢J -170  32.0 228.0
112 15 44 N-1 #2 -50 53.0 207.0 (B78 B75 INS+1 45 120 47.0 213.0| J6 J1 24 O+2 ¢J -170  32.0 228.0
L13 L10 44 N-1 #2 -50 53.0 207.0 12 11 3¢ N= &A 110 26.0 2340 O9 020 34 O+1 v¥6 -170  32.0 228.0
J14 J6 54 N-1 +#3 -50 53.0 207.0( O3 020 24 N= +9 110 26.0 234.0 (D11 D13 24 O+2 ¥5 -170  32.0 228.0
014 O6 44 N-1 v2 -50 53.0 207.0| Q3 Q21 3¢ N= &K 110 26.0 234.0(J15 J7 34 O+1 ¢J -170  32.0 228.0
D15 D9 44 N-1 v2 -50 53.0 207.0( J8 J12 14 N+1 49 110 26.0 2340 Q1 Q16 34 O+2 vQ -200 18.0 242.0
Q15 Q13 44 N-1 &T -50 53.0 207.0 (012 O15 24 N= +9 110 26.0 234.0( O3 019 3v N-2 #A -200 18.0 242.0
D18 D7 44 N-1 ¥5 -50 53.0 207.0 18 111 2v V-1 42 100 19.0 241.0| Q4 Q22 3v N-2 #A -200 18.0 242.0
Q19 Q2 44 N-1 v2 -50 53.0 207.0(N10 N4 2¢v O-1 4Q 100 19.0 241.0| N6 N8 3v S-2 &T -200 18.0 242.0
022 O4 44 N-1 &) -50 53.0 207.0( R3 R4 INS= v2 90 14.0 246.0 18 111 24 O+3 #3 -200  18.0 242.0
023 010 44 N-1 ¥5 -50 53.0 2070 F5 F6 INS= v4 90 14.0 246.0|D19 D12 3y S-2 +A -200 18.0 242.0
Q26 Q24 44 N-1 w2 -50 53.0 207.0( 09 021 INS= v4 90 14.0 246.0 [B78 B77 24 O+3 +¢J -200 18.0 242.0
B72 B2 44 N-1 2 -50 53.0 207.0( Q4 Q23 2NS-1 w7 -100 10.0 250.0| O7 O16 3v N-3 #A -300 10.0 250.0
B74 B79 44 N-1 &4 -50 53.0 207.0| M2 M12 2NS-2 2 -200 5.0 255.0| J8 J14 44 O= ¢J -420 7.0 253.0
B77 B76 44 N-1 ¥5 -50 53.0 207.0( M4 M9 44 N-2 #9 -200 5.0 255.0 |B73 B3 44 O= ¢J -420 7.0 253.0
B78 B75 44 N-1 5 -50 53.0 207.0| G5 G14 2#S-2 +Q -200 5.0 255.0| B2 B74 44 O+1 ¢J -450 3.0 257.0
B80 B10 44 N-1 7 -50 53.0 2070 R5 R2 3#S-2 T -200 5.0 255.0 ([Q11 Q23 44 O+1 ¢J -450 3.0 257.0
M6 M13 44 N-2 ¢Q -100 0.0 260.0S10 S7 2NS-3 ¥5 -300 0.0 260.0|S10 S7 1¢ N-5 &K -500 0.0 260.0
- U6 168.4 - U6 168.4 - U3 119.2

- H6 120.5 - H6 120.5 - H6 120.5
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- A2 161.8 - A2 161.8 - A2 161.8
B6 - 133.9 B6 - 133.9 - R7 140.0
- L7 97.2 - L7 97.2 - J13 118.4
- R7 140.0 - R7 140.0 - C7 132.2
- Ji1 105.3 - J11 105.3 |M10 - 102.7
- C7 132.2 - C7 132.2 |E13 103.5
M10 - 102.7 M10 - 102.7 - Gl11 126.7
- E2 143.5 - E2 1435 | L14 - 108.0
- G10 122.6 - G10 122.6 - B8 129.7
22 & K98752 Basta kontrakt 23 D94 Basta kontrakt 24 4 KDKn1032 Basta kontrakt
Ost v53 3v S =140 Syd v 97 6v V =-1430 Vast v53 44 V D -2 300
ov + E10953 Alla + K8 Ingen +32
»- & ¢ v & NT #Kn106543 & ¢ v & NT D94 & ¢ v & NT
4 E4 «4DKn1063 N 4 109 7 7 4Knl063 4 E N4516 2 495 4« E8 N547 79
vKD87 v6 S 4 109 7 7 vD1032 v EKKn84 S4516 2 vEK982 v6 S54779
¢K74  ¢2 09 2356 ¢ E53 ¢ Kn107 09 8 127 10 4109865 ¢ Kn74 0876 4 4
D943 #E108765 V 9 3 3 5 6 *ED K987 vV 9 8 127 10 +10 #EKn86532 V 8 7 6 4 4
a- 4 K8752 4764
v EKn10942 v 65 v DKn1074
+ DKn86 + D9642 + EKD
#KKn2 *2 *K7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
M5 M10 3NDV-4 47 1100 2570 30| F9 F8 6v V-1 &4 100 2600 00| 17 15 3NDS+1vA 650 260.0 0.0
B6 B70 34DO-4 ¢Q 1100 257.0 3.0({Q13 Q26 2¢ O+1 &2 -110 258.0 2.0| Q2 Q17 5#DO-3 ¢A 500 252.0 8.0
B10 B12 34D O -4 vA 1100 2570 30| F2 F5 3vV+2 &5 -200 2560 40| O3 O18 54D0O-3 44 500 2520 8.0
N10 N6 44DO-4 vA 1100 2570 3.0(/Q19 Q3 44 S-4 &A -400 2540 6.0 P4 Pl 54DO-3 ¢Q 500 2520 8.0
L2 L4 54DV-3 v5 800 251.0 9.0| L1 L4 5vV= #J -650 243.0 17.0| J7 J2 5¢DV-3 4K 500 252.0 8.0
B75 Bl 44DO-3 vA 800 2510 90| Q2 Q17 4v O+1 &2 -650 243.0 17.0| D9 D18 54D O-3 ¢A 500 2520 8.0
8 Q17 3vyDS+1 &#A 630 247.0 13.0| B3 B75 4v V+1 %6 -650 243.0 17.0|E13 E12 54D O-3 ¢A 500 2520 8.0
D10 D15 3vDS+1 #3 630 247.0 13.0| 4 110 4v O+1 42 -650 243.0 17.0|B76 B2 5#DO-3 ¢A 500 252.0 8.0
U2 U8 4vDS= #A 590 2420 18.0| M5 M10 4y O+1 &2 -650 243.0 17.0| B3 B75 5¢DV-2 4K 300 239.0 21.0
J6 J1 4vyDS= #A 590 2420 18.0| 16 112 4y O+1 %2 -650 243.0 17.0| E3 E5 54DO-2 ¢A 300 239.0 21.0
024 Ol11 4vDS= 4A 590 242.0 18.0| D9 D18 4y O+1 &2 -650 243.0 17.0| Q6 Q25 54D O-2 47 300 239.0 21.0
J2 J5 3vyDS= #3 530 237.0 23.0|D10 D2 4y O+1 %2 -650 243.0 17.0| M7 M14 5¢DV-2 v3 300 239.0 21.0
M6 M12 3vDS= #3 530 237.0 23.0|M1l1 M2 4y O+1 &2 -650 243.0 17.0|B11 B13 5vV-6 &K 300 239.0 21.0
L13 L11 54D O-2 vA 500 233.0 27.0(D19 D1 4v O+1 &2 -650 243.0 17.0|B74 B4 5#DO-2 ¢A 300 239.0 21.0
Gl7 G7 5#DO-2 ¢Q 500 233.0 27.0|Q15 Ql 3NV +2 6 -660 232.0 28.0|D12 D13 3NO-5 ¢A 250 2320 28.0
F2 F5 3NS+1 vQ 430 230.0 30.0| A1l A4 4vy O+2 &2 -680 161.0 99.0|D19 D1 4v V-4 &K 200 230.0 30.0
01 015 4vyS= «A 420 209.0 51.0( Bl B77 4y V+2 ¥9 -680 161.0 99.0|Q15 Q1 24 N+2 &2 170 228.0 32.0
E2 E4 4vS= &A 420 2090 510 E1l E4 4v V+2 &2 -680 161.0 99.0| U2 U8 2NN+1 T 150 2220 38.0
C4 C3 4vS= #Q 420 2090 51.0| HL H3 4vy O+2 &2 -680 161.0 99.0| 13 12 540-3 ¢A 150 2220 38.0
H4 H10 4v S= #A 420 2090 51.0( 11 111 4v O+2 &2 -680 161.0 99.0|K10 K8 5#0-3 ¢A 150 222.0 38.0
K4 K3 4v S= &3 420 2090 510 J1 J8 4v V+2 &J -680 161.0 99.0|011 023 54 O0-3 ¢A 150 222.0 38.0
P4 Pl 4v S= &4 420 209.0 51.0( O1l O14 4v V+2 &3 -680 161.0 99.0|Q21 Q4 54 0-3 ¢A 150 2220 38.0
R4 R5 4vS= &9 420 2090 510 Tl T4 4v O+2 &2 -680 161.0 99.0| O4 020 34 N= v6 140 215.0 45.0
16 112 4v S= &A 420 209.0 51.0| C2 C5 5v O+1 2 -680 161.0 99.0|010 O21 34 N= &A 140 215.0 45.0
Q6 Q13 4v S= &9 420 209.0 51.0( K2 K5 4v O+2 &2 -680 161.0 99.0| Al A4 440-2 ¢A 100 209.0 51.0
K7 K9 5¢ S+1 vK 420 2090 51.0( S2 S5 4v O+2 a2 -680 161.0 99.0| T1 T4 440-2 ¢A 100 209.0 51.0
FO F8 4v S= &A 420 2090 510| E3 E5 4v O+2 &2 -680 161.0 99.0| G5 G16 4#0-2 ¢A 100 209.0 51.0
K10 K8 4v S= #3 420 209.0 510| 13 12 4v O+2 &2 -680 161.0 99.0| T8 T2 540-2 ¢A 100 209.0 51.0
L10 L5 4vS= &4 420 2090 51.0( M3 M13 4v O+2 &2 -680 161.0 99.0| 1 111 5¢ V-1 &K 50 203.0 57.0
E12 E3 4vS= #4 420 209.0 510| P3 P2 4v O+2 &2 -680 161.0 99.0|L14 L7 440-1 ¢A 50 203.0 57.0
D14 D4 4v S= &4 420 209.0 51.0( H4 H10 4v O+2 &2 -680 161.0 99.0| E1 E4 34 N-1 &A -50 183.0 77.0
Gl6 G4 4vS= #Q 420 2090 51.0| K4 K3 4y O+2 &2 -680 161.0 99.0| E2 E10 3v S-1 #T -50 183.0 77.0
D18 D8 4y S= &4 420 2090 51.0( P4 Pl 4v O+2 &2 -680 161.0 99.0| P3 P2 44 N-1 &A -50 183.0 77.0
G18 G2 5¢ S+1 ¢K 420 2090 51.0| R4 R5 4vy O+2 &2 -680 161.0 99.0| H4 H10 44 N-1 6 -50 183.0 77.0
Q26 Q25 4v S= #A 420 2090 51.0| S4 S3 4vy O+2 &2 -680 161.0 99.0| 4 110 44 S-1 vA -50 183.0 77.0
B80 B1ll 4v S= &A 420 209.0 51.0| B5 B73 4v O+2 &2 -680 161.0 99.0| K4 K3 34 N-1 v6 -50 183.0 77.0
K6 K1 5¢ S= vK 400 187.0 73.0( D5 D14 4v O+2 &2 -680 161.0 99.0| R6 R3 44 N-1 &A -50 183.0 77.0
Q20 Q3 5¢ S= 4A 400 187.0 73.0| G5 G16 4v O+2 2 -680 161.0 99.0| C7 C9 44 N-1 #A -50 183.0 77.0
Q9 Q19 34 O-3 vA 300 181.0 79.0( O5 022 4v V+2 &4 -680 161.0 99.0| N7 N9 44 N-1 v6 -50 183.0 77.0
N1l N5 5#0-3 vA 300 181.0 79.0( Q5 Q23 4v O+2 &2 -680 161.0 99.0| E8 E9 34 N-1 v6 -50 183.0 77.0
B73 B3 3NV-3 v5 300 181.0 79.0( D6 D8 4v O+2 &2 -680 161.0 99.0| F9 F8 44 N-1 #A -50 183.0 77.0
B78 B77 24 O-3 vA 300 1810 790 F6 F7 4v V+2 &5 -680 161.0 99.0| O9 019 44 N-1 &A -50 183.0 77.0
Gl4 G6 1vyDN+14A 260 176.0 84.0| G6 G2 4v V+2 9 -680 161.0 99.0 | N12 N8 44 N-1 6 -50 183.0 77.0
Al A4 54DO-1 vA 200 165.0 950 K6 K1 4v O+2 &2 -680 161.0 99.0| L13 L12 34 N-1 +¥6 -50 183.0 77.0
F1 F3 540-2 vA 200 165.0 95.0( M6 M12 4v V+2 #J -680 161.0 99.0|013 012 44 N-1 v6 -50 183.0 77.0
L1 L9 44DO-1 vA 200 165.0 95.0| Q6 Q25 4v V+2 &T -680 161.0 99.0|E14 E7 34 N-1 &A -50 183.0 77.0
Q1 Q16 3NV-2 5 200 165.0 95.0| R6 R3 4v O+2 &2 -680 161.0 99.0|G15 G1 34 N-1 v¥6 -50 183.0 77.0
M3 M13 54D O-1 vA 200 165.0 95.0( B7 B71 4v O+2 &2 -680 161.0 99.0|016 0O2 44 N-1 v6 -50 183.0 77.0
N4 N1 44D O-1 ¢8 200 165.0 95.0( D7 D16 4v O+2 &7 -680 161.0 99.0| B1 B77 3v S-2 «&T -100 120.0 140.0
U5 Ul 540-2 vA 200 165.0 95.0| 17 15 4v O+2 &2 -680 161.0 99.0| F1 F3 44 N-2 v6 -100 120.0 140.0
Q10 Q21 2y S+3 4A 200 165.0 95.0( J7 J2 4vV+2 4 -680 161.0 99.0| J1 J8 44 N-2 &A -100 120.0 140.0
D11 D13 54 0-2 vA 200 165.0 95.0( M7 M14 4v O +2 &2 -680 161.0 99.0| L1 L4 44 N-2 A -100 120.0 140.0
E14 E6 3NV-2 48 200 165.0 95.0| R7 R2 4v O+2 &2 -680 161.0 99.0| O1 O14 44 N-2 2 -100 120.0 140.0
P3 P2 2vS+2 &4A 170 150.0 110.0 [ S7 S9 4v O+2 &2 -680 161.0 99.0| J3 J6 34 N-2 v6 -100 120.0 140.0
R6 R3 3v S+1 «Q 170 150.0 1100 T7 T3 4v V+2 w7 -680 161.0 99.0| M3 M13 44 N-2 v6 -100 120.0 140.0
B7 B69 3v S+1 #4 170 150.0 110.0 [ U7 U6 4v O+2 &2 -680 161.0 99.0| N3 N2 44 S-2 vA -100 120.0 140.0
S7 S9 3vS+1 &4A 170 150.0 110.0 [ A8 A2 4v O+2 &2 -680 161.0 99.0| C4 C3 3vS-2 «&T -100 120.0 140.0
D9 D1 2vy S+2 «3 170 150.0 110.0 | B8 B70 4v O +2 &2 -680 161.0 99.0| J4 J5 44 N-2 v6 -100 120.0 140.0
11 111 3v S= &A 140 138.0 122.0| E8 E9 4v V+2 &2 -680 161.0 99.0| N4 N1 34 N-2 v6 -100 120.0 140.0
I3 12 3vS= &A 140 138.0 122.0( L8 L9 4v O+2 &2 -680 161.0 99.0| R4 RS5 44 N-2 v6 -100 120.0 140.0
B5 B71 2v S+1 &A 140 138.0 122.0 | O8 O17 4v V+2 &3 -680 161.0 99.0| S4 S3 44 N-2 v6 -100 120.0 140.0
06 013 2v S+1 &A 140 138.0 122.0| G9 G4 4v O+2 &2 -680 161.0 99.0| M5 M10 44 N-2 #A -100 120.0 140.0
N7 N9 34 N= ¢2 140 138.0 1220 19 I8 4v O+2 &2 -680 161.0 99.0| O5 022 44 N-2 v6 -100 120.0 140.0
Q18 Q2 3vS= &4A 140 138.0 122.0( Q9 Q18 4v V+2 &J -680 161.0 99.0| T5 T6 44 S-2 vK -100 120.0 140.0
D19 D12 2v S+1 #4A 140 138.0 122.0| J10 J14 4v V+2 #J -680 161.0 99.0| D6 D8 34 N-2 v6 -100 120.0 140.0
A7 A3 3¢ S+1 &3 130 127.0 133.0 [N10 N6 4v O+2 &2 -680 161.0 99.0| F6 F7 44 N-2 A -100 120.0 140.0
R7 R2 4¢ S= &A 130 127.0 133.0 (010 O21 4v V+2 #J -680 161.0 99.0| G6 G2 24 N-2 v6 -100 120.0 140.0
U7 U6 3¢ S+1 #4 130 127.0 133.0|Q10 Q20 4v V+2 43 -680 161.0 99.0| H6 H7 44 N-2 v6 -100 120.0 140.0
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Q14 Q12 3¢ N+1 &#A 130 127.0 133.0 [B11 B13 4v O +2 &2 -680 161.0 99.0| O6 024 34 N- v6 -100 120.0 140.0
H1 H3 24 N= 3 110 116.0 144.0 |G11 G10 4y V+2 &5 -680 161.0 99.0( P6 P5 34 S- «A  -100 120.0 140.0
02 017 3¢ S= &3 110 116.0 144.0 [ J11 J13 4v V+2 &6 -680 161.0 99.0| S6 S1 34 S- vA -100 120.0 140.0
N3 N2 2vS= &A 110 116.0 144.0 [N11 N5 4v O+2 &2 -680 161.0 99.0| A7 A3 3v S- T -100 120.0 140.0
03 019 2vS= «+A 110 116.0 144.0 ([O11 O23 4v V+2 &2 -680 161.0 99.0( B7 B71 4v S- &T -100 120.0 140.0
T5 T6 2¢vS= &3 110 116.0 144.0 [Q11 Q22 4v O+2 &2 -680 161.0 99.0| D7 D16 44 N- v6 -100 120.0 140.0
A8 A2 2vS= ¢4 110 116.0 144.0 [N12 N8 4v O +2 &2 -680 161.0 99.0| K7 K9 44 N- v6 -100 120.0 140.0
09 020 2v S= &4 110 116.0 144.0 (O13 O12 4v O+2 &2 -680 161.0 99.0( Q7 Q14 44 N- v6 -100 120.0 140.0
M4 M8 44 0-1 +Q 100 102.0 158.0 [G14 G7 4v O+2 2 -680 161.0 99.0| R7 R2 44 N- #A -100 120.0 140.0
Q4 Q22 3NV-1 v3 100 102.0 158.0 [ L14 L7 4v O+2 &2 -680 161.0 99.0| S7 S9 44 N- #A  -100 120.0 140.0
Q5 Q24 3NV-1 v3 100 102.0 158.0 [ J16 J12 4v O+2 &2 -680 161.0 99.0( B8 B70 34 N - v6 -100 120.0 140.0
S6 S1 440-1 +Q 100 102.0 158.0 (D17 D3 4v O+2 &2 -680 161.0 99.0| G9 G4 44 N- #A  -100 120.0 140.0
C7 C9 5#40-1 vA 100 102.0 158.0 [G17 G8 4v O+2 a7 -680 161.0 99.0| H9 H8 34 N- v6 -100 120.0 140.0
M7 M14 3NV-1 ¢5 100 102.0 158.0 [G18 G3 4v O+2 &2 -680 161.0 99.0 19 18 44 N- v6 -100 120.0 140.0

014 012 44 0-1 vA 100 102.0 158.0 [B74 B4 4v O+2 &2 -680 161.0 99.0| Q9 Q18 44 N- v5 -100 120.0 140.0
K2 K5 4v S-1 &3 -50 79.0 181.0 [B76 B2 4v O+2 &2 -680 161.0 99.0 [N10 N6 44 N- v6 -100 120.0 140.0
S2 S5 5¢ N-1 #A -50 79.0 181.0 [B79 B78 4v O+2 &2 -680 161.0 99.0 (G11l G10 44 N - «A -100 120.0 140.0

14 110 5¢ S-1 &A -50 79.0 181.0( S6 S1 3NO+3 ¢4 -690 90.0 170.0 | J11 J13 44 N- v6 -100 120.0 140.0
G5 Gl 4¢ S-1 &3 -50 79.0 181.0( N3 N2 4v V+3 K -710 87.0 173.0|M11 M2 44 N- v6 -100 120.0 140.0
E7 E8 3v S-1 aA -50 79.0 181.0( C7 C9 5v O+2 &2 -710 87.0 173.0 [Q12 Q24 44 N - v6 -100 120.0 140.0
17 15 24 N-1 &#A -50 79.0 181.0( F1 F3 6v &2 -1430 42.0 218.0|015 O7 44 N- v6 -100 120.0 140.0
L7 L8 4¢ S-1 &A -50 79.0 181.0| E2 E10 6v &2 -1430 42.0 218.0|D17 D3 3v S- &T -100 120.0 140.0
Q7 Q15 5¢ S-1 &A -50 79.0 181.0| L2 L10 6v 9 -1430 42.0 218.0|G17 G8 44 N- «A  -100 120.0 140.0
G8 G3 3v S-1 &A -50 79.0 181.0( U2 U8 6v ¢5 -1430 42.0 218.0|G18 G3 44 N- #A  -100 120.0 140.0
08 018 4v S-1 &A -50 79.0 181.0( J3 J6 6% &2 -1430 42.0 218.0|Q19 Q3 44 N- v6 -100 120.0 140.0
H9 H8 4v S-1 &4 -50 79.0 181.0| L3 L5 6v v9 -1430 42.0 218.0| H1 H3 44 N- &A  -150 42.0 218.0
19 18 4v S-1 &A -50 79.0 181.0 O3 018 6v &2 -1430 42.0 218.0| C2 C5 44 N- v6 -150 42.0 218.0

G10 G9 4vy S-1 &9 -50 79.0 181.0( C4 C3 6v &2 -1430 42.0 218.0| F2 F5 44 N- v6 -150 42.0 218.0

G12 G15 4v S-1 &4 -50 79.0 181.0| F4 F10 6v &2 -1430 42.0 218.0| K2 K5 4v S- &T -150 42.0 218.0
J15 J7 4v S-1 &4 -50 79.0 181.0( J4 J5 6v &J -1430 42.0 218.0| L2 L10 44 N- v6 -150 42.0 218.0
J16 J11 5¢ N-1 #A -50 79.0 181.0 M4 M8 6v &2 -1430 42.0 218.0| S2 S5 4e v6 -150 42.0 218.0
04 021 5¢DN-1 #A -100 51.0 209.0| N4 N1 6v &2 -1430 42.0 218.0| L3 L5 4e &A  -150 42.0 218.0
D5 D7 54DN-1 #A  -100 51.0 209.0| O4 020 6v &J -1430 42.0 218.0| F4 F10 44 N- v6 -150 42.0 218.0

C6 Cl 3vyN-2 &J -100 51.0 209.0| T5 T6 6%
F6 F7 5¢ S-2 &3 -100  51.0 209.0( U5 Ul 6v
07 016 4vDS-1 A -100 51.0 209.0| B6 B72 6v
T8 T2 5¢DS-1 &3 -100 51.0 209.0| C6 C1 6v
J10 J12 34 N-2 2 -100 51.0 209.0( H6 H7 6v
010 022 3NS-2 &4 -100 51.0 209.0| O6 024 6v
S10 S8 5¢ N-2 &#A -100 51.0 209.0| P6 P5 6v

&2 -1430 42.0 218.0| M4 M8 3v
&2 -1430 42.0 218.0| B5 B73 44
¢2 -1430 42.0 218.0| Q5 Q23 A4e
A -1430 42.0 218.0| B6 B72 4a
&2 -1430 42.0 218.0 16 112 4
&2 -1430 42.0 218.0| K6 K1 4e
¢K -1430 42.0 218.0| M6 M12 4v

&T -150 42.0 218.0
v6 -150 42.0 218.0
#A -150 42.0 218.0
&T -150 42.0 218.0
v6 -150 42.0 218.0
&T -150 42.0 218.0
&T -150 42.0 218.0

Vo ' '
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B13 B9 4vDS-1 #4 -100 51.0 209.0 A7 A3 6v &3 -1430 42.0 2180| T7 T3 44 N- v6 -150 42.0 218.0
023 O5 5¢ S-2 &4 -100 51.0 209.0| K7 K9 6v &2 -1430 42.0 218.0| A8 A2 44 N- &A -150 42.0 218.0
B79 B76 4vDS-1 aA -100 51.0 209.0| N7 N9 6v v9 -1430 42.0 218.0| O8 O17 34 N- v6 -150 42.0 218.0
P6 P5 4v S-3 #4 -150 36.0 224.0 | Q7 Q14 6v &5 -1430 42.0 218.0|D10 D2 44 N- v6 -150 42.0 218.0
D16 D6 3NS-3 &3 -150 36.0 224.0| T8 T2 6v &2 -1430 42.0 218.0|J10 J14 4e N- v6 -150 42.0 218.0
D20 D3 44 N-3 ¢2 -150 36.0 224.0| H9 H8 6v &J -1430 42.0 218.0|Q10 Q20 34 N- #A -150 42.0 218.0
H6 H7 5¢ S-4 &«A -200 32.0 228.0| O9 019 6v ¢K -1430 42.0 218.0|S10 S8 44 N - &A -150 42.0 218.0
El E9 5¢DN-2 #A -300 20.0 240.0 (K10 K8 6¥ &2 -1430 42.0 218.0|N11 N5 4& N- v6 -150 42.0 218.0
Tl T4 5¢DS-2 &4 -300 20.0 240.0|S10 S8 6v &2 -1430 42.0 218.0|Q11 Q22 44 S - &T -150 42.0 218.0
B2 B74 4vDS-2 «A -300 20.0 240.0 |D12 D13 6v &2 -1430 42.0 218.0|Q13 Q26 44 N- v6 -150 42.0 218.0
C2 C5 4vDS-2 #3 -300 20.0 240.0 |Q12 Q24 6v &2 -1430 42.0 218.0|G14 G7 44 N- v6 -150 42.0 218.0
D2 D17 4vDS-2 4A  -300 20.0 240.0 |E13 E12 6v &2 -1430 42.0 218.0|D15 D11 44 N- v6 -150 42.0 218.0
B4 B72 5vDS-2 «aA -300 20.0 240.0|L13 L12 6v &J -1430 42.0 218.0|J16 J12 44 N- v6 -150 42.0 218.0
F4 F10 4vDS-2 A -300 20.0 240.0|E14 E7 6v &2 -1430 42.0 218.0|Q16 Q8 44 N- v6 -150 42.0 218.0
E10 E5 4vDS-2 aA -300 20.0 240.0 |D15 D11 6v &2 -1430 42.0 218.0|D20 D4 44 N- v6 -150 42.0 218.0
M1l M2 5¢DS-2 &3 -300 20.0 240.0 (G15 G1 6v &J -1430 42.0 218.0|B69 B9 44 N- v6 -150 42.0 218.0
Q11 Q23 3vyDS-2 #3 -300 20.0 240.0|015 O7 6v &J -1430 42.0 218.0|B79 B78 44 N- v6 -150 42.0 218.0
L12 L3 3vDS-2 4A -300 20.0 240.0 (016 O2 6v #J -1430 42.0 218.0|B80 B12 44 N- v6 -150 42.0 218.0
S4 S3 4vDS-3 A -500 6.0 254.0|Q16 Q8 6v v6 -1430 42.0 218.0| U7 U6 54 N - v6 -200 7.0 253.0
J8 J14 4¢DN-3 v6 -500 6.0 254.0 |D20 D4 6v &2 -1430 42.0 218.0| L8 L9 54 N- &A  -200 7.0 253.0
N12 N8 5¢vDS-3 4A  -500 6.0 254.0 ([Q21 Q4 6v v7 -1430 42.0 218.0| D5 D14 3vDS-2 #T -300 4.0 256.0
J3 J4 3NV= ¢3 -600 1.0 259.0 |B69 B9 6v &2 -1430 42.0 218.0| U5 Ul 54DN-3 «A  -500 1.0 259.0
T7 T3 3NV=  ¥5 -600 1.0 259.0 | B80 B12 6v &T -1430 42.0 2180| C6 C1 44DN-3 ¥5 -500 1.0 259.0
H2 - 105.0 H2 - 105.0 H2 - 105.0
- U3 119.2 - U3 119.2 - U3 119.2
A5 - 117.5 A5 - 117.5 A5 - 117.5
- R1 1334 - R1 1334 - R1 1334
- J13 118.4 - J15 132.4 - J15 132.4
M9 - 122.7 M9 - 122.7 M9 - 122.7
- C8 87.7 - C8 87.7 - C8 87.7
E13 - 103.5 - E6 109.2 - E6 109.2
- Gl1 126.7 | L11 - 123.3 L11 - 123.3
L14 - 108.0 G12 - 133.5 G12 - 133.5
- B8 129.7 - B10 146.6 - B10 146.6
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